

TRAINING CALENDAR

2018-2019

Training Unit Local Government Engineering Department

LOCAL GOVERNMENT ENGINEERING DEPARTMENT (LGED)

Central Training Unit (CTU)

Allocation of Fund for Training and Workshop for the FY: 2018-19

REVENUE FUNDED TRAINING and WORKSHOP	Training (Lac Tk.)	Seminar, Workshop (Lac Tk.)
Central Training Unit, HQ	125.00	-
Regional Training Centers	175.00	-
Sub Total (Revenue)	300.00	0.00
DEVELOPMENT PROJECT FUNDED TRAINING and WORKSHOP		-
Coastal Climate Resilient Infrastructure Project (CCRIP)	135.21	21.00
City Governance Project (CGP)	96.00	-
Countrywide Rural market Infrastructure Development Project (CRMIDP)	25.50	-
Climate Resilient Rural Infrastructure Project (CRRIP)	280.35	-
5. Coastal Town Environmental Improvement Project (CTEIP)	51.77	3.75
6. Haor Flood Management Livelihood Improvement Project (HFMLIP)	42.71	21.50
7. Haor Infrastructure and Livelihood Improvement Project (HILIP)	1097.01	79.74
8. Improvement of Ponds, Canals Across the country (IPCP)	42.00	-
9. Multipurpose Disaster Shelter Project (MDSP)	17.00	-
10. Municipal Support Service (MSU), Municipal Governance and Services Project (MGSP)	437.00	-
11. Northern Bangladesh Infrastructure Development Project (NOBIDEP)	186.73	-
12. Rural Access Road Improvement Project in Sylhet Division (RARIP)	120.00	-
13. Rural Transport Improvement Project (RTIP-2)	55.57	16.00
14. Sustainable Small Scale Water Resource Development Project (SSSWRDP)	382.58	140.3
15. Third Urban Governance and Infrastructure Improvement Project (UGIIP3)	205.78	-
Sub Total (Development)	3175.20	282.29
Grand Total (Revenue + Development)	3475.20	282.29

Local Government Engineering Department

Summary of Training Plan FY 2018-2019 (Revenue and Project Wise)

	Carrinary or Francing Francis Large Large (Fran			,			
	Budget Head (Revenue and Development Budget/Projects)	No. of Courses	No. of Batches	Total Participants	Total Trainee days	Allocation (Lac Tk.)	Program Taken (Lac Tk.)
1	2	3	4	5	6	7	8
Tra	nining Under Revenue Budget (GOB)						
1	Central Training Unit (CTU), LGED HQ.	26	81	1650	4451	125.00	155.27
2	Regional Training Centers (RTC)	8	86	2530	8020	175.00	213.55
	Total (Revenue Fund)	34	167	4180	12471	300.00	368.82
Tra	aining Under Development Budget (Project)						
1	Coastal Climate Resilient Infrastructure Project (CCRIP)	20	174	5280	7730	135.21	135.21
2	City Governance Project (CGP)	14	61	1741	5211	96.00	96.00
3	Countrywide Rural Market Infrastructure Development Project (CRMIDP)	4	19	464	1134	25.50	25.50
4	Climate Resilient Rural Infrastructure Project (CRRIP)	14	791	19070	268022	280.35	280.35
5	Coastal Towns Environmental Infrastructure Project (CTEIP)	8	14	400	1340	51.77	51.77
6	Haor Flood Management and Livelihood Improvement Project (HFMLIP)	16	139	3395	3885	42.71	42.71
7	Haor Infrastructure and Livelihood Improvement Project (HILIP)	10	457	10412	159772	1097.01	1097.01
8	Improvement Ponds, Canals Accros the Country Project (IPCP)	5	13	266	1330	42.00	42.00
9	Multipurpose Disaster Shelter Project (MDSP)	5	8	215	535	17.00	17.00
10	Municipal Support Unit (MSU), Municipal Governance & Services Project (MGSP)	25	181	5713	10796	437.00	437.00
11	Northern Bangladesh Integrated Development Project (NOBIDEP)	9	84	2948	7082	186.73	186.73
12	Rural Access Road Improvement Project (RARIP)	3	48	800	10150	120.00	120.00
13	Second Rural Transport Improvement Project (RTIP-2)	12	30	1924	2470	55.57	55.57
14	Sustainable Small Scale Water Resources Development Project (SSSWRDP)	33	275	19660	25700	382.58	382.58
15	Third Urban Governance and Infrastructure Improvement (Sector) Project (UGIIP-III)	27	195	5095	6200	205.78	205.78
	Total (Development Fund)	205	2489	77383	511357	3175.20	3175.20
Gr	and Total (Revenue and Development Budget):	239	2656	81563	523828	3475.20	3544.02

LOCAL Government Engineering Department

Summary of Training Plan FY 2018-2019 (Thematic Area-Wise)

	, ,		· .			<u> </u>	
	Budget Head	Nos. of Courses	No. of Batches	Total Participants	Total Trainee days	Programme/All ocation (Lac Tk.)	Remarks
1	2	3	4	5	6	7	8
A) T	raining Under Revenue Budget (GOB) - CTU and RTC	:					
1	Administration and Management	6	17	503	1967	51.87	
2	Gender and Development (GAD)	1	2	60	60	1.80	
3	Social & Environmental Safeguard	•	•	-	-	-	
4	Technical / Engineering	9	64	1910	5860	168.80	
5	Computer Based Training /ICT	7	37	837	1734	53.60	
6	Finance, Accounts and Audit Management:	4	10	300	1320	38.70	
7	PPR / e-GP etc.	3	11	270	1050	36.75	
8	Urban Management	-	-	-	-	-	
9	Climate Change	-	-	-	-	-	
10	Other Training (Domestic):	4	26	300	480	17.30	
	Total (Revenue Fund)	34	167	4180	12471	368.82	
B) T	raining Under Development Budget (Project)						
1	Administration and Management	33	337	21737	33957	655.93	
2	Gender and Development (GAD)	12	387	9268	248384	230.06	
3	Social & Environmental Safeguard	8	22	617	1099	38.97	
4	Technical / Engineering	66	551	12560	161637	1255.67	
5	Computer Based Training /ICT	15	106	3050	4230	133.12	
6	Finance/Accounts and Audit Management	15	144	4147	7850	171.47	
7	PPR / e-GP etc.	3	4	132	222	10.70	
8	Urban Management	18	182	6311	7641	231.30	
9	Climate Change	5	74	2211	2547	48.69	
10	Other Training (Domestic)	30	682	17350	43790	399.30	
	Total (Development Fund)	205	2489	77383	511357	3175.21	
Gra	nd Total (Revenue and Development):	239	2656	81563	523828	3544.03	

Comparative Training Information Based on Thematic Areas (Revenue and Development Budget, 2018-19)

Thematic Area	Thematic Area	СТИ	RTC	CCRIP	CGP	CRMIDP	CRRIP	CTEIP	HFMLIP	HILIP	IPCP	MDSP	MGSP	NOBIDEP	RARIP	RTIP-2	SSSWRDP	UGIIP-3	Revenue	Develop ment	Total
	Nos. of Courses	5	1		2			1	3	2			2	3			20		6	33	39
Administration	Nos. of batches	7	10		3			4	75	3			22	26			204		17	337	354
and	Total Participants	203	300		156			120	1650	148			840	1110			17713		503	21737	22240
Management	Total Trainee Days	467	1500		156			600	1650	3392			2640	4800			20719		1967	33957	35924
	Estimated Cost TK. (lakh)	14.37	37.50		3.30			24.00	14.85	85.73			125.00	108.73			294.32		51.87	655.93	707.8
	Nos. of Courses	1		1			4							1			3	3	1	12	13
	Nos. of batches	2		4			325							30			22	6	2	387	389
Gender and Development	Total Participants	60		100			7600							750			610	208	60	9268	9328
Development	Total Trainee Days	60		100			245900							750			1210	424	60	248384	248444
	Estimated Cost TK. (lakh)	1.80		3.00			131.25							30.00			45.61	20.20	1.8	230.06	231.86
	Nos. of Courses			2				1				2	1				1	1	0	8	8
Social and	Nos. of batches			9				2				3	3				4	1	0	22	22
Environmental	Total Participants			225				50				90	129				108	15	0	617	617
Safeguard	Total Trainee Days			225				100				270	258				216	30	0	1099	1099
	Estimated Cost TK. (lakh)			5.00				3.75				8.00	11.00				9.72	1.50	0	38.97	38.97
	Nos. of Courses	5	4	3	1	3	4	4	9	6	5	2	2	4		7	4	12	9	66	75
Factoreston	Nos. of batches	10	54	11	1	7	9	6	18	408	13	4	4	10		10	9	41	64	551	615
Engineering and Technical	Total Participants	290	1620	285	20	164	229	150	435	8914	266	95	120	188		244	199	1251	1910	12560	14470
	Total Trainee Days	730	5130	795	60	834	545	450	615	153170	1330	115	360	632		770	515	1446	5860	161637	167497
	Estimated Cost TK. (lakh)	25.55	143.25	24.45	3.00	21.50	19.90	16.91	11.62	969.84	42.00	5.00	9.00	23.00		32.75	20.70	56.00	168.8	1255.67	1424.47
	Nos. of Courses	5	2									1	8			5		1	7	15	22
Computer	Nos. of batches	19	18									1	49			20		36	37	106	143
based	Total Participants	347	490									30	980			1680		360	837	3050	3887
Training/ICT	Total Trainee Days	944	790									150	2020			1700		360	1734	4230	5964
	Estimated Cost TK. (lakh)	35.80	17.80									4.00	95.50			22.82		10.80	53.6	133.12	186.72
	Nos. of Courses	3	1	1	2				2	1			4					5	4	15	19
Finance,	Nos. of batches	6	4	2	10				40	31			31					30	10	144	154
Accounts and Audit	Total Participants	180	120	40	175				1170	930			983					849	300	4147	4447
Management	Total Trainee Days	720	600	40	175				1440	2790			1943					1462	1320	7850	9170

Comparative Training Information Based on Thematic Areas (Revenue and Development Budget, 2018-19)

Thematic Area	Thematic Area	СТИ	RTC	CCRIP	CGP	CRMIDP	CRRIP	CTEIP	HFMLIP	HILIP	IPCP	MDSP	MGSP	NOBIDEP	RARIP	RTIP-2	SSSWRDP	UGIIP-3	Revenue	Develop ment	Total
	Estimated Cost TK. (lakh)	23.70	15.00	2.00	6.70				11.00	31.88			67.50					52.39	38.7	171.47	210.17
	Nos. of Courses	3			1			1										1	3	3	6
Public	Nos. of batches	11			1			1										2	11	4	15
Procurement	Total Participants	270			30			30										72	270	132	402
(PPR), E-GP	Total Trainee Days	1050			60			90										72	1050	222	1272
	Estimated Cost TK. (lakh)	36.75			3.00			3.38										4.32	36.75	10.7	47.45
	Nos. of Courses				4			1					8	1				4	0	18	18
	Nos. of batches				12			1					72	18				79	0	182	182
Urban Management	Total Participants				360			50					2661	900				2340	0	6311	6311
Widilagement	Total Trainee Days				660			100					3575	900				2406	0	7641	7641
	Estimated Cost TK. (lakh)				13.00			3.73					129.00	25.00				60.57	0	231.3	231.3
	Nos. of Courses			3			2												0	5	5
	Nos. of batches			33			41												0	74	74
Climate Change	Total Participants			1450			761												0	2211	2211
	Total Trainee Days			1450			1097												0	2547	2547
	Estimated Cost TK. (lakh)			32.99			15.70												0	48.69	48.69
	Nos. of Courses	4		10	4	1	4		2	1					3		5		4	30	34
	Nos. of batches	26		115	34	12	416		6	15					48		36		26	682	708
Others	Total Participants	300		3180	1000	300	10480		140	420					800		1030		300	17350	17650
	Total Trainee Days	480		5120	4100	300	20480		180	420					10150		3040		480	43790	44270
	Estimated Cost TK. (lakh)	17.30		67.77	67.00	4.00	113.50		5.24	9.56					120.00		12.23		17.3	399.3	416.6
	Nos. of Courses	26	8	20	14	4	14	8	16	10	5	5	25	9	3	12	33	27	34	205	239
	Nos. of batches	81	86	174	61	19	791	14	139	457	13	8	181	84	48	30	275	195	167	2489	2656
Total	Total Participants	1650	2530	5280	1741	464	19070	400	3395	10412	266	215	5713	2948	800	1924	19660	5095	4180	77383	81563
	Total Trainee Days	4451	8020	7730	5211	1134	268022	1340	3885	159772	1330	535	10796	7082	10150	2470	25700	6200	12471	511357	523828
	Estimated Cost (Lac Tk)	155.27	213.55	135.21	96.00	25.50	280.35	51.77	42.71	1097.01	42.00	17.00	437.00	186.73	120.00	55.57	382.58	205.78	368.82	3175.21	3544.03

Local Government Engineering Department

Summary of Workshop/Seminar Plan FY 2018-2019 (Project Wise)

	Budget Head (Development Budget/Projects)	No. of Courses	No. of Batches	Total Participants	Total Trainee days	Proposed Allocation TK (Lakh)	Remarks
1	2	3	4	5	6	7	8
W	orkshop/Seminar Under Development Budget (Project)						
1	Coastal Climate Resilient Infrastructure Project (CCRIP)	3	5	200	400	21.00	
2	Coastal Towns Environmental Infrastructure Project (CTEIP)	1	1	50	100	3.75	
3	Haor Flood Management and livelihood Improvement Project (HFMLIP)	4	16	400	400	21.50	
4	Haor Infrastructure and Livelihood Improvement Project (HILIP)	3	35	1600	1600	79.74	
5	Second Rural Transport Improvement Project (RTIP-2)	1	16	1600	1600	16.00	
6	Third Urban Governance and Infrastructure Improvement (Sector) Project (UGIIP-III)	6	3024	90970	90970	140.30	
To	otal (Development Budget):	18	3097	94820	95070	282.29	

LOCAL GOVERNMENT ENGINEERING DEPARTMENT (LGED) Central Training Unit (CTU) Summary of Training Allocation and Expenditure for the last FY: 2017-18

REVENUE FUNDED TRAINING	Rev. Budget (Lac Tk.)	Expenditure (Lac Tk.)	Remarks
Central Training Unit, HQ	60.04	60.04	
2. Regional Training Centers	199.5	199.5	
Sub Total (Revenue)	260	259.54	
DEVELOPMENT PROJECT FUNDED TRAINING			
Coastal Climate Resilient Infrastructure Project (CCRIP)	161.61	157.11	
2. Char Development & Resettlement Project-IV (CDSP-IV)	16	11.2	
3. City Governance Project (CGP)	86.36	86.24	
4. Climate Resilient Rural Infrastructure Project (CRRIP)	255.9	206.89	
5. Coastal Town Environmental Improvement Project (CTEIP)	9	9.88	
6. Emergency 2007 Cyclone Recovery and Restoration Project (ECRRP)	7.2	7.24	
7. Haor Flood Management Livelihood Improvement Project (HFMLIP)	44.82	44.48	
8. Haor Infrastructure and Livelihood Improvement Project (HILIP)	545.09	525.69	
9. Improvement of Ponds, Canals Across the country (IPCP)	0	16.76	
10. Multipurpose Disaster Shelter Project (MDSP)	16.1	16.45	
11. Municipal Support Service (MSU), Municipal Governance & Services Project (MGSP)	310.35	290.33	
12. Northern Bangladesh Infrastructure Development Project (NOBIDEP)	114.69	108.47	
13. Third Primary Education Development Programme (PEDP-3)	22.62	22.62	
14. Participatory Small Scale Water Resources Sector Project (PSSWRSP)	547.01	535.8	
15. Rural Access Road Improvement Project in Sylhet Division (RARIP)	3	4	
16. Rural Employment and Road Maintenance Programme-2 (RERMP-2)	204	204	
17. Rural Transport Improvement Project (RTIP-2)	184.98	184.57	
18. Sustainable Small Scale Water Resource Development Project (SSSWRDP)	114.54	129.76	
19. Third Urban Governance and Infrastructure Improvement Project (UGIIP3)	231.87	231.67	
Sub Total (Development)	2875.14	2793.16	
Grand Total (Revenue + Development)	3135.14	3052.7	

Local Government Engineering Department

Summary of Training Achievement for the last FY 2017-18

			Rev	ised P	lanned	l			Α	chieve	ment			S
	Budget Head	يه يب	N6	Total	Total	Dudest		NI6	Total F	articipant	S	Total	Actual	Remarks
	Revenue, Development & Others	No. of Course	No. of	Particip	Trainee	Budget		No. of	Mala	Famala	Total	Trainee	Exp. (Lakh	em
	The folius, 20 foliophism of Suisis	zö	Batch	ants	days	(Lakh Tk)	Course	Batch	Male	Female	TOLAT	days	Tk)	~
1	2	3	4	5	6	13	7	8	9	10	11	12	14	15
A. Training Unde	r Revenue Budget (GOB)													
1 Central Trainir	ng Unit (CTU), LGED HQ.	15	32	790	1990	60.00	15	30	677	68	745	2055	60.04	
2 Regional Train	ing Centers (RTC)	16	134	3194	8028	200.00	16	134	3010	150	3160	7942	199.50	
Total (Revenue	i):	31	166	3984	10018	260.00	31	164	3687	218	3905	9997	259.54	
	r Development Budget (Project)													
	te Resilient Infrastructure Project (CCRIP)	24	258	8360	8860	161.61	24	250	5881	2098	7979	8517	157.11	
	ment & Settlement Project-IV (CDSP-IV).	6	16	288	440	16.00	6	16	218	70	288	440	11.20	
	ce Project (CGP)	12	46	1324	4067	86.36	12	46	391	933	1324	4067	86.24	
	ent Rural Infrastructure Project (CRRIP)	13	910	23254	175033	255.9		679	3405	11870	15275	167036	206.89	
	s Environmental Infrastructure Project (CTEIP)	4	4	80	200	9.00	4	4	90	13	103	230	9.88	
6 Emergency 20	07 Cyclone Recovery and Restoration Project (ECRRP)	2	2	40	220	7.20	2	2	35	3	38	209	7.24	
7 Haor Flood Ma	anagement and Livelihood Improvement Project (HFMLIP)	11	168	3475	3897	44.82	11	168	3594	1645	5239	5658	44.48	
8 Haor Infrastruc	cture and livelihood Improvement Project (HILIP)	21	998	22452	82460	545.09	21	976	11474	10453	21927	80364	525.69	
9 Improvement	of Ponds, Canals across the country (IPCP)	0	0	0	0	0	2	5	68	2	70	350	16.76	
10 Multipurpose	Disaster Shelter Project (MDSP)	3	7	180	720	16.10	3	6	147	5	152	550	16.45	
11 Municipal Gov	ernance and Services Project (MGSP) through MSU	21	171	5479	10405	310.35	21	161	4214	721	4935	9188	290.33	
12 Northern Bang	ladesh Integrated Development Project (NOBIDEP)	15	65	1813	4628	114.69	15	67	772	979	1751	4543	108.47	
13 Third Primary	Education Development Program (PEDP-III)	2	66	2006	2006	22.62	2	66	2000	6	2006	2006	22.62	
14 Participatory S	mall Scale Water Resources Sector Project (PSSWRSP)	28	679	20085	28450	547.01	28	673	11890	7767	19657	28078	535.80	
15 Rural Access	Road Improvement Project in Sylhet Division (RARIP)	1	2	50	100	3.00	1	1	30	1	31	93	4.00	
16 Rural Employr	nent and Road Maintenance Programme-2 (RERMP-2)	1	766	30640	30640	204.00	1	766	0	30640	30640	30640	204.00	
17 Second Rural	Transport Improvement Project (RTIP-II)	7	32	2259	5178	184.98	7	31	2153	99	2252	5087	184.57	
18 Sustainable Si	mall Scale Water Resources Development Project (SSSWRDP)	11	51	1636	5469	114.54	11	63	1407	680	2087	6456	129.76	
19 Third Urban G	overnance and Infrastructure Improvement (Sector) Project (UGIIP-III)	27	302	4504	5640	231.87	27	298	3398	1914	5312	6076	231.67	
	tal (Development):			127925	368413	2875.14	211	4278	51167	69899	121066	359588	2793.16	
Grand Total R	evenue + Development Budget)	240	4709	131909	378431	3135.14	242	4442	54854	70117	124971	369585	3052.70	

		Local G	overnme	ent	Er	gin	eeri	ng D	ера	rtme	ent		
			Detail Tra	inin	g Pl	an fo	r FY 2	2018-1	9				
SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
A .	Trainin	g Under Revenue Budge	et (GOB)										
	1. Cen	tral Training Unit (CTU),	LGED Head Qu	uarter									
		Administration & Manageme	ent_										
1	ADM 01	Administrative Management & Contract Supervision	SEs	1	1	25	25	25	1.50	CTU	4/11/2018	4/11/2018	
2	ADM 03	Project Management	PD and DPD	2	2	30	60	120	4.00	CTU	7/11/18 & 28/11/18	8/11/18 & 29/11/18	
3	TOT 01	Training of Trainers (TOT)	XEN (Region), Sr.AE, UE	4	1	28	28	112	3.92	CTU	5/8/2018	9/8/2018	
4	OFM 01	Office Management	Sr.AE, UE, AE	3	1	30	30	90	3.15	CTU	28/08/18	30/08/18	
5	ODB 01	Office Decipline and Charter of Duties	Office Support	2	2	30	60	120	1.80	CTU	18/11/18, 25/11/18	19/11/18, 26/11/18	
		Sub-total			7		203	467	14.37				
		Gender & Development (GA	<u>D)</u>										
6	GAD 01	Gender & Development	Sociologist	1	2	30	60	60	1.80	СТИ	3/9.4/9, 5/9 & 6/9/18	3/9.4/9, 5/9 & 6/9/18	Gender Forum
		Sub-total			2		60	60	1.80				
		Technical/Engineering											
7		Design Principles and Considerations	Sr. AE, AE	2	2	30	60	120	4.20	CTU	Dec/18	Dec/18	
8	1000101	O o noti dottori)	Sr.AE, AE, UE, UAE	2	2	30	60	120	4.20	CTU	16/9, 23/9/18	20/9, 27/9/18	
9	QCT 02	,	Sr.AE, AE, UE, UAE	2	2	30	60	120	4.20	CTU	16/9, 23/9/18	20/9, 27/9/18	
10	QCT 03	Quality Control (Building Construction)	Sr.AE, AE, UE, UAE	2	2	30	60	120	4.20	CTU	16/9, 23/9/18	20/9, 27/9/18	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants		Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10		12	13	14
11	DRG 01	Understanding Drawing of Infrastructures (Building, Bridge & Hydraulic Structures)		5	2	25	50	250	8.75	СТИ	7/10, 14/10/18	11/10, 18/10/18	
		Sub-total			10		290	730	25.55				
		Computer Based Training/IC	<u>T</u>										
12	ICT 01	Basic Computer Training	Actt., Com Ope., SAE, Ac. Asstt, OA	4	4	20	80	320	11.20		5/8/18, 9/9/18, 16/9/18, 23/9/18	9/8/18, 13/9/18, 20/9/18, 27/9/18	ICT Unit
13	ICT 02	ICT and its Applications	XEN, Sr.AE, AE, UE, UAE	4	5	20	100	400	14.00		7/10/18, 14/10/18, 21/10/18, 28/10/18, 4/11/18	11/10/18, 1/8/10/18, 25/10/18, 1/12/18, 8/12/18	ICT Unit
14	EFS 01	e-Filing Training	Sr.AE, AE, UE, UAE	1	8	20	160	160		СТИ	5/8 - 14/8/18	5/8 - 14/8/18	ICT Unit
15	GIS 01	Advanced Training Course on GIS & Remote Sensing	·	10	1	5	5	50	3.00	CTU	Jul/18	Dec/18	ICT Unit
16	ARG 01	Training on ArcGIS	Sr.AE, AE	7	1	2	2	14	2.00	Dhaka	Jul/18	Dec/18	ICT Unit
		Sub-total			19		347	944	35.80				
		Finance, Accounts and Aud	it										
17	FIM 01	Financial Management including financial rules and Accounts		5	2	30	60	300	10.50	CTU	9/9/18, 16/9/18	13/9/18, 20/9/18	
18	FIM 02	Financial Management including financial rules and Accounts	Acct., Account Assistant	5	2	30	60	300		CTU			
19	AUM 01	Audit Management	Sr. AE, UE, Acct., UDA	2	2	30	60	120			21/10/18, 24/10/18	22/10/18, 25/10/18	
		Sub-total			6		180	720	23.70				
		PPR / e-GP											
20	PPR 01	Public Procurement Management	Sr.AE, UE, AE	3	3	30	90	270	9.45		28/8/18, 4/9/18 11/9/18,	30/8/18, 6/9/18 13/9/18,	
21	PPR 03	Electronic Government Procurement (e GP)	Sr.AE, UE, AE	5	6	20	120	600	21.00		28/10, 4/11, 11/11, 25/11, 2/12/18	1/11, 8/11, 15/11, 29/11, 6/12/18	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10		12	13	14
22	PPR 02	Contract Management of Works	Sr.AE, UE	3	2	30	60	180	6.30	СТИ	11/11/18, 18/11/18 25/11/18,	13/11/18, 20/11/18 27/11/18,	
		Sub-total			11		270	1050	36.75				
		Other Training (Domestic)											
23	DNB 01	Driving Rules, Behaviour and Vehicle Maintenance		2	2	30	60	120	1.80	СТИ	5/12/18	2/12/18, 6/12/18	
24	ExV 01	Exposer Visit to Nationwide Mega Structure	AE	1	5	LS	90	90	5.50	Institutes	Jul/18	Jun/19	
25	DOM 01	Organization/Institute (GIS, ICT etc.)	XEN, Sr. AE, UE, AE, Acct., UDA	5	15	LS	30	150	4.00	Dhaka	Aug/18	Jun/19	
26	IWR 01		WMCA Chairman, secretary, O&M sub- committee members	1	4	30	120	120	6.00				IWRM
		Sub-Total			26		300	480	17.30				
		Sub-Total CTU			81		1650	4451	155.27				
	2. Reg	ional Training Centers (RTC)										
		Administration & Manageme	ent										
1	OFM 02	Office Management	UDA/OA/CCT	5	10	30	300	1500	37.50	RTC	9/9/18 & 16/9/18	13/9 & 20/9	
		Sub-total			10		300	1500	37.50				
		Technical/Engineering											
2	SIC 01	Supervision of Infrastructure Construction	SAE, D/M(SAE)	5	13	30	390	1950	58.50		9/9, 16/9, 23/9/2018 , 30/9/18	13/9, 20/9, 27/9/2018, 4/11/19	
3	QCT-9	Construction Supervision and Quality Control	WA	5	13	30	390	1950	54.60		22/7, 29/7, 5/8/18	26/7, 2/8, 9/8/18	
4	INV 01	Survey and Investigation (Survey, SPT, Load Test, Intrigity Test etc)	SAE, Draftmen (SAE), Surveyor	2	13	30	390	780		RTC/XEN Office	Nov/18	Dec/18	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
5		On Job Training on Roughness Survey using Profilometer	Sr.AE, AE, UE, SAE	1	15	30	450	450	6.75	RTC	Sep/18	Dec/18	Maint Unit
		Sub-total			54		1620	5130	143.25				
		Computer Based Training/IC	T										
6	ICT-01	Basic Computer Training	Actt., Com Ope., SAE, Ac. Asstt, OA	4	5	20	100	400	10.00	RTC	Sep/18	Dec/18	ICT Unit
7	EFS 01	e-Filing Training	Actt., Com Ope., SAE, Ac. Asstt, OA	1	13	30	390	390	7.80	RTC	Aug 18	Aug 18	ICT Unit
		Sub Total			18		490	790	17.8				
		Finance, Accounts and Aud	it										
8		Financial Management including Financial Rules and Accounts	Acct., Account Assistant	5	4	30	120	600	15.00	RTC	Nov/18	Dec/18	Division/Regi on coverage
		Sub-total			4		120	600	15.00				
		Sub-Total: Region (RTC)			86		2530	8020	213.55				
Tot	al (Reve	nue Budget)			167		4180	12471	368.82				
В.	Trainin	g Under Development B	udget (Project)										
1. (Coasta	I Climate Resilient Infras	tructure Projec	et (CCI	RIP)								
		Gender and Development (G	GAD)_										
1	GAD 01	Training on Gender and Development	Sr.AE, AE, UE, CO, FMO, UISE, CCRIP & contractor	1	4	25	100	100	3.00	RTC	Aug/18	Sep/18	
		Sub Total			4		100	100	3.00				
		Social & Environmental Safe	eguard										
2	ENS 02	Training on Enviornmental & Social Safeguards	Sr.AE, UE, AE LGED, FMO , UISE CCRIP	1	4	25	100	100		CTU/RTC	Sep/18	Oct/18	
3	ENV 01	Training on Enviornmental Awarenness	MMC member and other stakeholder	1	5	25	125	125	2.00	Upazila Complex	Jul/18	Sep/18	
		Sub Total			9		225	225	5.00				

SI			ırse Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2		3	4	5	6	7	8	9	10	11	12	13	14
		Technical / E	Ingineering											
4	CMQ	Training on Cor Management ar	nstruction and Quality Control	Sr.AE, UE, AE	3	6	25	150	450	13.50	RTC	Aug/18	Sep/18	
5	RES	Training on Dev Operation and N Renewable Ene	Maintenance of	Sr.AE, UE, AE	3	3	25	75	225	6.75	СТИ	Oct/18	Nov/18	
6	SRS	Solution Schedule of Rail Specifications	tes and	SAE	2	2	30	60	120	4.20	RTC	Oct/18	Nov/18	
		Su	b Total			11		285	795	24.45				
		Finance, Acc	counts and Aud	it Management										
7	FIM (Training on Fin Management S Software	ancial ystem TOMPRO	Accountant, FMO,CCRIP	1	2	20	40	40	2.00	CTU/RTC	Oct/18	Nov/18	
		Sub Total				2		40	40	2.00				
		Climate Cha	nge											
8	ССН	Training on Clin Hazards at Dis		DC , ADC , DRRO, DLAO, SP,DLO , , DFO, EE, PEDP, DYDO, DIO, District level Govt and NGO Official and XEN, Sr.AE,AE, LGED,	1	5	50	250	250		XEN Off. Barisal, Jhalokhati ,Khulna, Patuakhali and Borguna	Jul/18	Oct/18	
9	ССН	Training on Clin H Hazards, Impac at Upazila level.	ts and Adaptation	UE, UVC,UVC (Female), Mayor, Pourashava, Concerned Local Councillor, Local Ward Member ,Local UP Chairman, UNO, Govt. Official , PG,and Education Institutions Members	1	20	50	1000	1000	20.6	Upazila Parishad	Jul/18	Nov/18	

SI		Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
10	ССН	Training on Climate Change Hazards, Impacts and Adaptation at Village level	LEC, CL, Teachers,LE, , WM, DMC, RCV	1	8	25	200	200	4.64	Upazila Parishad	Jul/18	Nov/18	
		Sub Total			33		1450	1450	32.99				
		Other Training (Domestic)											
1	SH- MMC	Training on Market Management	MMC members, women sellers, permanent & Temporary traders.	1	5	25	125	125	1.55	Upazila Complex	Jul-18	Oct-18	
12	SH- MMC	Training on Market Management Training (Maintance Plan)	MMC members, women sellers, permanent & Temporary traders.	1	30	25	750	750	9.3	Upazila Complex	Jul-18	Oct-18	
13	SH- MMC	Training on Market Users and Stakeholders	Selected MMC members, women sellers, permanent and Temporary traders.	1	5	40	200	200	1.72	Upazila Complex	Jul-18	Oct-18	
14	LCS- IGA	Training on Income Generating Activities	LCS members	1	25	30	750	750	10.5	Upazila Complex	Jul-18	Oct-18	
15	GALS	Training on GALS Metholodegy	LCS members	5	5	25	125	625	7.5	Upazila Complex	Jul-18	Aug-18	
16	6 KM	Knowledge Management Concept Training	LGED Officials at HQ LGED Staff at District & Upazila, UP Functionaries	1	1	30	30	30	2.00	RTC	Nov-18	Nov-18	
17	LCS-TP	Training on Tree Plantation and Maintenance	LCS Members	1	4	30	120	120	1.60	Upazila Complex	Sep-18	Sep-18	
18	WM- BDP	Training on Business Development Plan	Women Merket Section Members	4	16	30	480	1920	24.00	Upazila Complex	Sep-18	Sep-18	
19	SWM	Training on Solid Wastage Management (Pilot)	MMC members, women sellers, permanent & Temporary traders.	1	12	25	300	300	4.80	Market Place/ Nearest school	Oct-18	Nov-18	

	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
20	ISP	Traders	Women Merket Section Members & Women Traders	1	12	25	300	300	4.80	Market Place/ Nearest school	Nov-18	Nov-18	
		Sub Total			115		3180	5120	67.77				
		Total of CCRIP			174		5280	7730	135.21				

1. Abbreviations:

DC= Deputy Commissioner, ADC=Additional Deputy Commissioner, DRRO= District Relief and Rehabilitation Officer, DLAO=District Land Acquisition Officer, DLO=SP=Superintendent of Police, DLO=District Livestock Officer, DFO=District Fisheries Officer, EE= Executive Engineer, DYDO=District Youth Development Officer, DIO=District Information Officer, UC=Upazila Chairman, UVC=Upazila Vice Chairman (Female), MMC=Market Management Committee, LEC=Local Elected Bodies, CL=Community Leaders, LE=Local Elites, WM=Women members, RCV=Red crescent Volunteers, PG=Professional Groups, LCS = Local contracting society.

2.	City Go	overnance Project (CGP)											
		Administration & Manageme	ent_										
1	FRR	Training on Functions, Roles and Responsibilities of the Concilors.	Councilors + Member Secretary of the Standing Committees (Newly Elected Concilors	1	2	68	136	136	2.50	City Corporatio ns (5 CCs)	August, 2018	August, 2018	Newly elected represent atives of GCC & RpCC
2	L&DSC	Training on Capacity Development for the Members of Law & Discipline Standing Committee (GCC)	Members of Law & Discipline Standing Committees & some Officials	1	1	20	20	20	0.80	5 (CCs)	Dec. 2018	Dec. 2018	Newly elected represent atives of GCC
		SubTotal			3		156	156	3.30				
		Technical/ Engineering											
3	QCT	Refresher Training on Quality Control	Assistant Engineer, Sub-AE	3	1	20	20	60	3.00	СТИ	August, 2018	August, 2018	
		SubTotal			1		20	60	3.00				
		Finance, Accounts and Aud	it Management										
4	TAX	Training on tax assessment, billing and collection procedures	Officer and staffs of tax assessment and collection section	1	5	15	75	75	3.20	5 (CCs)	July, 2018	December, 2018	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
5	TLAM	Training on trade license management software	Officer and staffs of trade license and other sections	1	5	20	100	100	3.50	5 (CCs)	July, 2018	December, 2018	
		SubTotal			10		175	175	6.7				
		Urban Management											
6	IPM & WWPM	Training on Integrated pollution mapping and waste water drainage management	Chairperson of WLCC, Asstt. Engineers & Planners	2	5	30	150	300	5.00	5 (CCs)	Sep'2018	Dec'2018	
7	ISWM	Training on Integrated Solid Waste management	Chairperson of WLCC, Asstt. Engineers & Planners	2	5	30	150	300	5.00	5 (CCs)	Jan '2019	Mar '2019	
8	CCIDP	Training on City Corporation Infrastructure Development Plan (CCIDP) Implementation	Councilors (Chairperson/ Secretary of Satnding Committee on Urban Planning & Development), Engineers & Planners	1	1	30	30	30	1.50	СТИ	Apr'2019	Apr'2019	
9	RMP	Training on Preparation/Revision of Master Plan	Councilors (Chairperson/ Secretary of Satnding Committee on Urban Planning & Development), Engineers & Planners	1	1	30	30	30	1.50	СТИ	Apr'2019	Apr'2019	
		SubTotal			12		360	660	13.00				
		PPR / e-GP											
10	PPR 02	Contract Management of Works	Assistant Engineer, Sub-AE	2	1	30	30	60	3	СТИ	August, 2018	August, 2018	
		SubTotal			1		30	60	3.00				

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		Other Training (Domestic)											
11	IGA	Training on Income Generating Activities ((IGA)	Primary Group Member	21	5	30	150	3150	40.00	5 (CCs)	August, 2018	June, 2019	
12	THE	Refresher training On Health Education	Community Health Worker	2	2	25	50	100	3.00	RTC / BARD, Comilla	October, 2018	November, 2018	
13	TSS	Refresher training on Satellite School Education	Pre-primary School Teacher	2	2	25	50	100	3.00	RTC / BARD, Comilla	December , 2018	January, 2018	
14	TGM	Training on Group Management for Primary Group Secretary	Secretart of Primary Groups Members	1	25	30	750	750	21.00	5 (CCs)	February, 2019	June, 2019	
		SubTotal			34		1000	4100	67.00				
		Toal of CGP			61		1741	5211	96.00				
3.	Countr	ywide Rural Market Infra	structure Deve	lopme	nt P	roject (CRMID	P)					
		Technical/Engineering						-					
1		Construction of Technique, Supervision of infrastructure works.	SAE, WA	5	4	25	100	500	8.50	CTU	Oct-18	Dec-18	
2	QTC-2	Quality Control 2 (Bitumen, Cement, Concrete).	Sr.AE, AE,UE,UAE	5	2	25	50	250	8.50	CTU	Agu/18	Sep-18	
3	QCT-9	Supervision and Quality Control.	EE (DIV./Reg.), Sr.AE,AE, UE, UAE	6	1	14	14	84	4.50	CTU	Oct-18	Oct-18	
		Sub Total			7		164	834	21.50				
		Other Training (Domestic)											
		Project Awareness and Implementa	ation:										
4	SH- MMC	Market Management Training	MMC Member, Women shelters, Permanent traders.	1	12	25	300	300	4.00	СТИ	Jul-18	Mar-18	
		Sub Total			12		300	300	4.00				
		Total CRMIDP			19		464	1134	25.50				

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
4. (Climate	Resilient Rural Infrastro	ucture Project ((CRRII	P)								
		Gender and Development (G	SAD)										
1	LCS-HR	Awareness training on Human Rights Issues & Gender Empowerment for LCS	LCS Members	1	110	25	2750	2750	23.00	UP / Primary School	4/1/2019	30/5/2019	
2	LCS- IGA	Income Generating Activities for LCS	LCS Members	1	110	25	2750	2750	24.00	UPC	4/1/2019	30/5/2019	
3	ToT- FLT	ToT on Functional Literacy Training for Animators	Animators	4	5	32	100	400		XEN Office	15/07/2018	15/08/2018	
4	LCS- FLT	Functional Literacy Training for LCS	LCS Members	120	100	20	2000	240000	78.00	UPC	15/08/2018	15/12/2018	
		Sub Total			325		7600	245900	131.25				
		Technical/Engineering											
5	ST-LM	Training on LCS Methodology for LGED Staff.	LGED & TA Staff	1	3	35	105	105	1.70	XEN Office	1/11/2018	31/12/2018	
6	SRS 01	Schedule of Rates and Specifications	SAE	2	2	30	60	120	4.20	RTC	10/1/2018	11/1/2018	
7	TOS 01	Total Station Survey (Operation)	LGED & TA Staff	5	2	16	32	160	7.00	XEN Office	3/3, 10/3/1	7/3, 14/3/19	
8	TOS 02	Total Station Survey (Data Processing)	LGED & TA Staff	5	2	16	32	160	7.00	XEN Office	17/3, 24/3/	21/3, 28/3/1	9
		Sub Total			9		229	545	19.90				
		Climate Change											
9	DM-CCA		Union Parishad Chairman, Members & Officials	2	24	14	336	672	7.20	UPC	1/3/2019	30/05/2019	
10	SH-OW	Orientation Course on CRRIP	UP Chairman, Upazila Parishad Chairman & Officials	1	17	25	425	425	8.50	Upazila Complex	1/8/2018	31/10/2018	
		Sub Total			41	39	761	1097	15.7				
		Other Training (Domestic)											
11	SH-W	Civil Works Supervision Training for Scheme Supervision Committee (SSC)	SSC Members						0.00				

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
12		Civil Works Implementation Training for Ward Committee							0.00				
13		Scheme Implementation Training for Labour Contracting Society (LCS) Course		2	400	25	10000	20000	110.00	UP / Primary School		31/01/2019	
14		Scheme Implementation Training for Labour Contracting Society (LCS)- Refresher Course	LCS Members	1	16	30	480	480	3.50	UP / Primary School	1/10/2018	31/01/2019	
		Sub Total			416	55	10480	20480	113.5				
		Total CRRIP			791		19070	268022	280.35				
5 . (Coasta	l Towns Environmental I	nfrastructure F	roject	(CT	EIP)							
		Administration & Manageme											
1		Managerial Leadership, Ownership & Integrity	SEs, PDs, XENs	5	4	30	120	600	24.00	BPATC		26/7, 9/8, 13/9, 27/9	
		Social and Environmental S	afeguard										
2		Refresher training on Social and Environmental Safeguard	Executtive Engineer and Assistant Engineer of Pourashava (4 from each Town) & PMU	2	2	25	50	100	3.75	СТИ	April, 2019	May, 2019	
		Sub Total			2		50	100	3.75				
		Technical/Engineering											
3		Refresher training on Quality Control of construction of Civil Works (Executive Assistant Engineer)	Assistant Engineers	4	1	25	25	100	3.75	СТИ	July, 2018	September , 2018	
4		Engineer)	Sub-Assitant Engineers of project Pourashava (2 from each Towns) & PMU	4	1	25	25	100	3.75	СТИ	,	December, 2018	

SL No		Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
5	O&M	(Pipeline installation, rehabilitation etc.)	(Water Supper/AE, Pipe line and Tube well Machanics (4 from each Towns) & PMU	3	2	25	50	150	5.63				
6	IES	Septage Management/Integrated landfill and resource recovery facilities	Pourashava Officials of PWSS Section and Conservency Section (4 from each Town) & PMU	2	2	25	50	100	3.78	СТИ	January, 2019	March, 2019	
		Sub Total			6		150	450	16.91				
		PPR/e-GP etc.											
7	e-GP	Refresher course on E- Government procurement and procurement Management	Pourashava Engineers & Account Officer (2 from each Town) & PMU	3	1	30	30	90	3.38	СТИ	January, 2019	March, 2019	
		Sub Total			1		30	90	3.38				
		Urban Management											
8	UMP	Semi-Annual Workshop focusing on project management, Monitoring and Review of progres on targeted activities, assess overall compliance with social and environment safeguard, identify problems/challenges and means to mitigate them.	PIU (Mayor/Panel Mayor, XEN, AE, , Secretary of Project Pourashavas, PMU staff, and Consultants (TL, DTL & field satff)	2.00	1	50.00	50.00	100.00	3.73	-			
		Sub Total			1		50	100	3.73				
		Total CTEIP			14		400	1340	51.77				
6.	Haor F	ood Management and L	velihood Impro	veme	nt Pr	oject (l	HFMLIF	P)					
		Administration & Manageme	ent_										
1		Khal Re-excavation under Community Infra.	LCS Members	1	30	25	750	750	6.60	UP	1-Oct-18	30-Mar-19	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
2	LCS-W	Beel Re-excavation under Community Infra.	LCS Members	1	30	25	750	750	6.60	UP	1-Oct-18	30-Mar-19	
3		Implementation Monitoring Committee	IMC Members	1	15	10	150	150	1.65	UP	1-Oct-18	30-Mar-19	
		Sub Total			75		1650	1650	14.85				
		Technical/Engineering											
4	1(:1\/1(-)-(1)1	Construction Supervision and Management	AE	3	1	25	25	75	2.00	RTC	16/9/18	18/9/18	
5		Schedule of Rates and Specifications	SAE	2	1	30	30	60	2.10	RTC	1-Oct-18	1-Nov-18	
6		Construction Supervision and Quality Control	SAE	3	1	25	25	75	2.00	RTC	10/9/18	12/9/18	
7	QCT 01	Construction Supervision and Quality Control	WA	3	1	25	25	75	2.00	RTC	7/10/18	9/10/18	
8	AQUA- Net	Fish Net-Pen Culture	Beneficiaries (Fish Farmer having experience in fish culture)	1	2	25	50	50	0.44	GPS	1-Aug-18	31-Jan-19	
9	AQUA- Cage	Fish Cage Culture	Beneficiaries (Fish Farmer having experience in fish culture)	1	4	20	80	80	0.88	GPS	1-Aug-18	31-Jan-19	
10	AQUA- Pond	Fish Pond Culture	Beneficiaries (Fish Farmer having experience in fish culture)	1	2	20	40	40	0.44	GPS	1-Aug-18	31-Jan-19	
11	Aqua - Doud	Doud khandi model aquaculture	Beneficiaries (Fish Farmer having experience in fish culture)	1	2	40	80	80	0.88	GPS	1-Aug-18	31-Jan-19	
12	rei	Fish Drying and Farmantation	Beneficiaries (Fish Farmer having experience in fish culture)	1	4	20	80	80		GPS	1-Aug-18	31-Jan-19	
		Sub Total			18		435	615	11.62	GPS			

SL	Course		Category of	Duration	No. of	Participants	Total	Total Trainee	Estimated	Location/			
No.	Code	Course Title	Participants	(day)	Batche s	per batch	Participants	days	Cost TK (Lakh)	Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		Finance, Accounts and Aud	it Management										
13	BUG- Mgt	Beel Management	BUG Members	1	30	30	900	900	6.60	UP	20-Jul-18	31-Jan-19	Training materials need prior approval
14	BMC- Mgt	Beel Management	BMC Members	2	10	27	270	540	4.40	UTDC	20-Jul-18	31-Jan-19	Training materials need prior approval
		Sub Total			40		1170	1440	11.00				
		Other Training (Domestic)											
15	Ex-Visit	Exchange Visit for Experience Sharing	Officers and Staff	2	2	20	40	80	2.60	Project Area	1-Aug-18	31-Jan-19	Training Schedule need prior approval
16	Ex-Visit	Exchange Visit for Experience Sharing	Fishermen having ID card from Deprtment of Fishiries	1	4	25	100	100	2.64	Project Area	1-Aug-18	31-Jan-19	Training Schedule need prior approval
		Sub Total			6		140	180	5.24				
		Total HFMLIP			139		3395	3885	42.71				
7.	Haor In	frastructure and Livelih	ood Improveme	ent Pro	oject	(HILIP)							
		Administration and Manage	ment										
1	FND 01	Foundation Course	AE/UAE	60	2	25	50	3000	78.73	BPATC /BARD	8/18/2018	Sept 18	
2	ORI 01	Orientation on LGED Activities	Newly recruited Engineers (AE/UAE)	4	1	98	98	392		СТИ	July 18	Sept 18	
		Sub Total			3		148	3392	85.73				

SL No		Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		Technical / Engineering											
3	LCS (Infra/Kh al)	Small Contract Implementation Methodology	Beneficiaries (LCS Members)	1	150	25	3750	3750	33.56	UPC/ Primary School	7/15/2018	43646	
4	Cap Dev, M & E, KM, Finance	Training training on Capacity development, M&E, Knowledge Management, Financial Management	AE, UE, UAE, Acct. CO, DPC, UPC, DM&EO, DTC, LC, CRMC, FA and others	3	4	25	100	300	12.09	СТИ	15-Jul-18	30-Jun-19	
5	Bamboo , Jute, others Produ	Improved Training on Bamboo, Jute and Others Products	*Selcted Beneficiaries	8	80	20	1600	12800	117.19	XEN Office	15-Jul-18	30-Jun-19	Training materials and program need prior approval
6	Vocatio nal	Vocational Training on 10 Trades	*Selcted Beneficiaries	40	170	20	3400	136000	793.00	Service Providing Organisati on/TSC/B RTC	1-Jul-18	30-Jun-19	Training materials and programne ed prior approval
7	TOS 01	Total Station Survey (Data Collection)	Surveyor/Upazila Asstt Engineer	5	2	16	32	160	7.00	CTU/RTC	6/1, 13/1/19	10/1/19, 17/1/19	
8	TOS 02	Total Station Survey (Data Processing)	Surveyor/Upazila Asstt Engineer	5	2	16	32	160	7.00	CTU/RTC	20/1, 27/1/19	24/1, 31/1/19	
		Sub Total			408		8914	153170	969.84				
	Finance	e/Accounts and Audit Manag	ement :										
9	Beel Mngt	Beel Management	Beneficiaries (BMC)	3	31	30	930	2790	31.88	Upazila / District Level/ BRDTI	15-Jul-18	30-Jun-19	Training materials need prior approval
		Sub Total		_	31		930	2790	31.88	_	_		
	Other 1	raining (Domestic) :											
10	Exchang e Visit	Exchange visit for Onion Fanshaus	UE, UPC, UP Chairman, Members, Secretary and others	1	15	28	420	420	9.56	Union Parishad	15-Jul-18	30-Jun-19	Training schedule need prior approval
		Sub Total			15		420	420	9.56				
		Total HILIP			457		10412	159772	1097.01				

SL	Course	Course Title	Category of	Duration	No. of	Participants	Total	Total Trainee	Estimated Cost	Location/	Start Date	End Date	Pomorko
No.	Code	Course Title	Participants	(day)	Batche s	per batch	Participants	days	TK (Lakh)	Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		*Note: Beneficiaries will be selected	d based on poor, unem	ployed, o	disable	and needy	/ family me	embers,					
8. I	mprov	ement Ponds, Canals Ad	cros The Coun	try Pr	oject	(IPCP)							
		Technical/Engineering											
1	TTS 01	TOT on Total Station (Operation)	Selected XEN, Sr.AE, AE/ UAE, SAE/Surveyor	5	2	12	24	120	7.00	RTC, Fad and Bog.	16/9/18 & 23/9/18	20/09/18 & 27/9/18	
2		TOT on Total Station (Data Processing)	AE, UAE, SAE/Surveyor	5	2	12	24	120	7.00	CTU	30/9/18 & 7/10/18	4/10/18 & 11/10/18	
3		Project Activities and LGED Practices	SAE	5	1	26	26	130	2.00	CTU			
4	TOS 01	Total Station Operation	AE, UAE, SAE/Surveyor	5	4	16	96	480	13.00	RTC, Com, Mym		25/10, 1/11, 29/11, 6/12/18	
5	TOS 02	Total Station Data Procesing	AE, UAE, SAE/Surveyor	5	4	16	96	480	13.00	RTC, Com, Mym	4/11, 11/11, 9/12, 23/12/18	8/11, 15/11, 13/12, 27/12/18	
		Total IPCP			13		266	1330	42.00				
9 . I	Multipu	rpose Disaster Shelter I	Project (MDSP)										
		Social & Environmental Safe	<u>eguard</u>										
1		Training on Resettlement Framework (RE) and Resettlement Action Plan (RAP)	PMU officials, PD, DPD, XENs, Sr. AEs, UEs, AEs & SAEs	5	1	30	30	150.00	4.10	СТИ	09-09-2018	13-09-2018	
2		Training on Environment Management Framework (EMF) Inclusive Environmental Management Plan or Environmental Code of Practice (ECP)	PMU officials, PD, DPD, XENs, Sr. AEs, UEs, AEs & SAEs	2	2	30	60	120.00	3.90	СТИ	29-07-2018	09-08-2018	
		Sub Total			3		90	270	8.00				

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		Technical/Engineering											
3		Training on Contract Management	PD, DPD, XENs, Sr. AEs, Ues & AEs	2	1	20	20	40	2.50	СТИ	01-12- 2018	07-12-2018	
4		Tender and Contract Management for LGED Contractors	Contractors	1	3	25	75	75	2.5	RTC	01-12- 2018	07-12-2018	
		Sub Total			4		95	115	5.00				
		Computer BasedTraining/IC	<u>T</u>										
5		Training on ICT for LGED officials	PD, DPD, XENs, Sr. AEs, Ues & AEs	5	1	30	30	150.00	4.00	СТИ	07-10- 2018	11-10-2018	
		Sub Total			1		30	150	4.00				
		Total MDSP			8		215	535	17.00				
10	Munic	ipal Support Unit (MSU)	, Municipal Gov	ernan	ice &	Service	es Pro	ject (MG	SP)				
		Administration & Manageme	ent										
1	Ori- Mayor	Orientation to Elected Officials (Mayors) on Fundamental Issues of Paurashava Governance	Mayor (1)	4	4	30	120	480	45.00	CTU/ BARD, Com, RDA, Bog	1 Oct, 2018	31 Mar, 2019	MSU Interventi on
2	Ori- Coun	Orientation to Elected Officials (Councilors) on Fundamental Issues of Paurashava Governance	Mayor (1 for day-2), Councilors (all for 3 days), Departmental Heads (3 for day-2), Member Secretary of WCs (4 for day-3)	3	18	40 (Av.)	720	2160	80.00	CTU & RTCs	1 Sept, 2018	30 Apr, 2019	MSU Interventi on
		Sub Total			22		840	2640	125.00				
		Technical/Engineering											
3	SRS 01	Schedule of Rates and Specifications	SAE	2	2	30	60	120	0.00	RTC	Oct 18	Nov 18	
4	CMQ 01	Construction Management, Supervision and Quality Control	SAE and Project Staff	3	4	30	120	360	9.00	RTC	Sept./18	Jan. 19	
		Sub Total			4		120	360	9.00				

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		Social & Environmental Safe	eguard										
5	Safe Guard	Training on Environmental & Social Safeguard Policy, GRC and Financial Management	Mayor/Secretary (1), EE/AE (1), Accounts Officer/Accountant (1), Health Officer/ Conservancy Inspector (1), Chief Social Welfare Officer/Slum Development Officer (1)	2	3	43	129	258	11.00	СТИ	1 Sep. 2018	28 Feb. 2019	DSM Interventi on
		Sub Total			3		129	258	11.00				
		Computer Based Training /I	CT										
6	HT-Soft	Training on Holding Tax Software Installation and Operation	Tax Collector (1) & Assistant Tax Collector (1) = 2	5	4	20	80	400	14.00	RTCs	1 Aug, 2018	31 Jan, 2019	MSU Interventi on
7	Acct. Soft	Training on Municipal Accounting Software Installation and Operation	Accounts Officer/ Accountant (1) & Account Assistant/Cashier (1) = 2	5	4	20	80	400	14.00	RTCs	1 Aug, 2018	31 Jan, 2019	MSU Interventi on
8	TL-Soft	Training on Trade License Software Installation and Operation	License Inspector (1) & Assistant License Inspector (1) = 2	5	4	20	80	400	14.00	RTCs	1 Aug, 2018	31 Jan, 2019	MSU Interventi on
9	WB-Soft	Training on Water Billing Software Installation and Operation	Assistant Engineer (Water Supply) (1) & Bill Clerk (1) = 2	5	1	20	20	100	3.50	RTCs	1 Aug, 2018	31 Jan, 2019	MSU Interventi on
10	HT-Soft Refr.	Refresher Course on Holding Tax Software Installation and Operation	Tax Collector (1) & Assistant Tax Collector (1) = 2	1	10	20	200	200	14.00	RTCs	1 Jan, 2019	30 Apr, 2019	MSU Interventi on
11	Acct- Soft Refr.	Refresher Course on Municipal Accounting Software Installation and Operation	Accounts Officer/ Accountant (1) & Account Assistant/Cashier (1) = 2	1	10	20	200	200	14.00	RTCs	1 Jan, 2019	30 Apr, 2019	MSU Interventi on

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
12	TL-Soft Refr.	Refresher Course on Trade License Software Installation and Operation	License Inspector (1) & Assistant License Inspector (1) = 2	1	10	20	200	200	14.00	RTCs	1 Jan, 2019	30 Apr, 2019	MSU Interventi on
13	WB-Soft Refr.	Refresher Course on Water Billing Software Installation and Operation	Assistant Engineer (Water Supply) (1) & Bill Clerk (1) = 2	1	6	20	120	120	8.00	RTCs	1 Jan, 2019	30 Apr, 2019	MSU Interventi on
		Sub Total			49		980	2020	95.50				
		Finance, Accounts and Aud	it Management										
14	T-ASS	Training on Holding Tax Assesment	Secretary (1), Tax Assessor (1), Assistant Tax Assessor (2)=4	2	10	32	320	640	22.00	RTCs	1 Aug, 2018	30 Apr, 2019	MSU Interventi on
15	T-Coll	Training on Holding Tax Collection	Secretary (1), Tax Collector (1), Assistant Tax Collector (2) =4	2	10	32	320	640	22.00	RTCs	1 Aug, 2018	30 Apr, 2019	MSU Interventi on
16	Bud. Acct. Aud.	Training on Budgeting, Accounting & Audit	Secretary (1), Accounts Officer/Accountant (1), Account Assistant (1), Cashier (1) =4	2	10	32	320	640	22.00	RTCs	1 Jan, 2019	30 Apr, 2019	MSU Interventi on
17	ТоТ-НТ	TOT on Buggeting, Accounting & Audit	Deputy Director (11), Assistant Director (MF) (11) & Assistant Director (IT) (1)	1	1	23	23	23	1.50	СТИ	5 Dec, 2018	5 Dec, 2018	MSU Interventi on
		Sub Total			31		983	1943	67.5				
		Urban Management											
18	TLCC	Training on TLCC Formation & Operation	Mayor (1), Panel Mayors (3) and Member-secretary (1) = 5	2	10	40	400	800	24.00	RTCs	1 Aug, 2018	30 Apr, 2019	MSU Interventi on

		Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
ſ	1	2	3	4	5	6	7	8	9	10	11	12	13	14
	19	GRC	Training on Grievance Redress Committee (GRC) Formation & Operation	Mayor (1), Councuilors (all), Representatives from Local Administration (1), Educational Institute (1), NGO (1), Civil Society (1) and Member Secretary of GRC (1)	1	5	36	180	180	6.00	RTCs	18 Aug, 2018	31 Dec, 2018	MSU Interventi on
	20	GRC- Refr.	Refresher Course on Grievance Redress Committee (GRC) Formation & Operation	Mayor (1), Councuilors (all), Representatives from Local Administration (1), Educational Institutes (1), NGO (1), Civil Society (1) and Member Secretary of GRC (1)	1	18	40 (Av.)	720	720	20.00	RTCs	1 Nov, 2018	30 Apr, 2019	MSU Interventi on
	21	MP-Act	Orientation on Master Plan Preparation, Implementation and Relevant Acts	Mayor (1), Executive Engineer/ Assistant Engineer (1), Secretary (1), Town Planner/Assistant Engineer/Sub-Assistant Engineer (1), Chairperson & Members of Standing Committee on Urban Planning, Citizen Services & Development (4)=8	1	20	32	640	640	30.00	RMSUs	1 Aug, 2018	30 Apr, 2019	MSU Interventi on

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
22	PC- Mngt.	Training on Project Cycle Management including M&E System	Mayor/Secretary (1), SE (1), EE (1), AE (1), AME (1), SAE (1)	2	3	43	129	258	11.00	LGED HQ	1 Oct. 2018	30 Jan, 2019	DSM Interventi on
23	O & M Plan	Training on O&M Plan & Budget and its sustainability	Mayor/Secretary (1), SE (1), EE (1), AE (1), AME (1), SAE (1)	1	3	43	129	129	6.00	СТИ	1 Nov. 2018	31 Dec. 2018	DSM Interventi on
24	C-Mngt. & QCT	Training on Coctract Management & Quality Control	SE/EE/AE (1), SAE (1), AME (1)	1	2	39	78	78	4.00	CTU	1 Aug. 2018	31 March. 2019	DSM Interventi on
25	Ori- Emrg.	Orientation on Paurashava response to meet any Crises/Emergency.	Mayor , All Councilor , Departmental Heads	2	11	35	385	770	28	RTCs	1 Oct, 2018	30 June, 2019	MSU Interventi on
		Sub Total			72		2661	3575	129.00				
		Grand Total MGSP-MSU			181		5713	10796	437.00				
11	. North	ern Bangladesh Integrat	ed Developmer	nt Proj	ect (l	NOBIDI	EP)						
		Administration & Manageme	ent										
1	тот	Training of trainers (TOT) to upgrade the capacity of CBRS Team/Facilitators	LGED Officials/Community Based Rroad Safety Group (CBRSG) Members	2	6	25	150	300		RTC /XEN Office	July/18	Augst/18	
2	AW- Safety	Training on Road traffic safety awareness/education	CBRS Facilitators and Ward Volunteers	1	18	50	900	900	18.00	RTC/XEN Office	Sept./18	Nov/18	
3	FND 01	Foundation Training for LGED Engineers	LGED Officials	60	2	30	60	3600	78.73		5/8/18 , 7/10/18	3/10/18, 5/12/18	
		Sub Total			26		1110	4800	108.73				
		Technical / Engineering											
4		Construction Management and Quality Control	SAE	3	4	16	64	192			Nov/18	Dec/18	
5	SRS 01	Schedule of Rates and Specifications	SAE	2	2	30	60	120	4.20	RTC	43374	43405	

_	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10		12	13	14
6	TOS 01	Total Station (Operation)	AE, UAE, SAE/Surveyor	5	2	16	32	160	7.00	RTC	Nov/18	Dec/18	
7	TOS 02	Total Station (Data Processing)	AE, UAE, SAE/Surveyor	5	2	16	32	160	7.00	RTC	Nov/18	Dec/18	
		Sub Total			10		188	632	23.00				
		Gender, Social & Environme	ental Safegurd										
8	GAD	Training on Gender, Social and Environmental Aspects	Growth center markets and rural market stakeholders and Others	1	30	25	750	750	30.00	СТИ	Nov/18	Jan/19	
		Sub Total			30		750	750	30.00				
		Urban Management											
9	TLCC	Sensitization Workshop for TLCC members	TLCC members	1	18	50	900	900	25.00	Pourasha va	Oct/18	Dec/18	
		Sub Total			18		900	900	25.00				
		Total of NOBIDEP			84		2948	7082	186.73				
12 .	Rural	Access Road Improvement	ent Project in S	ylhet	Divis	ion (R	ARIP)						
		Other Training (Domestic)											
1		Market management Committee (MMC) , UP Officials	MMC members , UP Officials	2	6	20	150	300	4.80	XEN Off . / Upazila Parishad	Jul-18	Jun-19	
2		Project Activities and LGED Practices	SAE	5	2	25	50	250	5.00	СТИ			All training module will

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
3		Training on Livelihood & Agricultural Products marketing skill*	Farmer Groups (8 modules each 2 days duration total 16 days)	16	40	15	600	9600	110.20	XEN Off ./ Upazila Parishad	Jul-18	Jun-19	developed by short term consulting firm after training needs assessment & training will be imaprted by NGO
		Sub Total			48	60	800	10150	120.00				
		Total RARIP			48		800	10150	120.00				
		* Note: Training program, materials	etc are to be submitte	d for app	roval b	efore impl	ementatior	ſ					
13.	Secon	d Rural Transport Impro	vement Projec	t (RTII	P-2)								
		Technical / Engineering											
1		Training on Road Design Standard of LGED	AEs & SAEs	3	1	30	30	90	3.75	CTU	July '18	July '18	
2		Training on Rural Road Maintenance	PDs, DPDs, XENs, Sr. AEs, UEs, AEs, SAEs	2	1	30	30	60	2.90	СТИ	November '18	November '18	
3	RS 01	Basic Training on Rural Road Safety	PDs, DPDs, XENs, Sr. AEs, UEs, AEs, SAEs	3	1	30	30	90	3.95	CTU	December '18	December '18	
4	SRS 01	Schedule of Rates and Specifications	SAE	2	2	30	60	120	4.2	RTC	43374	43405	
5	TOS 01	Total Station (Operation)	AE, UAE, SAE/Surveyor	5	2	16	32	160	7	RTC	Nov/18	Dec/18	
6	TOS 02	Total Station (Data Processing)	AE, UAE, SAE/Surveyor	5	2	16	32	160	7	RTC	Nov/18	Dec/18	
7		Basic Training on Rural Road Safety	PDs, DPDs, XENs, Sr. AEs, UEs, AEs, SAEs	3	1	30	30	90	3.95		December '18	December '18	
					10		244	770	32.75				

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
		Computer Based Training /I	<u>CT</u>										
8		Training on Application of Electronic Project Monitoring System (ePMS) & Mobile Application for Field Work Inspection	XENs, Sr. AEs, UEs & AEs	1	1	20	20	20	1.55	СТИ	July '18	July '18	
9		Training on Web-based Environmental Management Information System (EMIS)	XENs, Sr. AEs, UEs & AEs	1	1	20	20	20	1.52	СТИ	August '18	August '18	
10		Training on Bridge Management System (BMS) and Web-based Road & Structure Database Management System (RSDMS)	XENs, Sr. AEs, UEs & AEs	2	1	20	20	40	2.20	СТИ	Septembe r '18	September '18	
11		Training on Personnel Management Information System (PMIS)	XENs, Sr. AEs, UEs & AEs	1	1	20	20	20	1.55	СТИ	October '18	October '18	
12		Maintenance Planning, Management and Scheme Approval Procedures	XENs, Sr. AEs, UEs & UAE/AEs	1	16	100	1600	1600	16.00	СТИ	October '18	October '18	Maint. Unit Requireme nt
		Sub Total			20		1680	1700	22.82				
		Total RTIP-2			30		1924	2470	55.57				
14	Sustai	inable Small Scale Water	r Resources De	velon	ment	Projec	et (SSS)	WRDP)					
		Administration & Manageme		10.00		110,00	, (555)	,					
			PRA & FS Team										
1	01	Initial Orientation of PRA & FS Teams	Members, various PMU staff	1	1	25	25	25	1.25	СТИ	August, 2018	Sept, 2018	
2	02	Initial Orientation of Detail Design Teams	DD Team members, various PMU staff	1	1	25	25	25	1.25	СТИ	August, 2018	Sept, 2018	
3	03	Orientation training/workshop on the Project Activities (Engineering, Institutional and Socio-economic) WMCA Establishment, FMC Formation	Upazila Engineers, AEs (Water), Sociologist, SAE, DOC, DAE, DOF, DLS, SRDI	1	24	50	1200	1200	67.20	XEN Off.	July, 2018	Sept, 2018	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
4	04	Orientation Training on SSWRDP	AEs (Water)	3	1	30	30	90	4.50	СТИ	August, 2018	Sept, 2018	
5	05	Orientation Training on SSWRDP	Facilitators	3	2	30	60	180	8.64	CTU	Nov, 2018	Jan, 2018	
6	06	TOT : UP Role in Water Resources Management	District XEN, UE, Sociologist, AEs (Water), PMU Staff	1	6	30	180	180	9.00	СТИ	october, 2018	Nov, 2018	
7	07	UP Role in Water Resources Management	Selected UP members (Chairman, 1 male member and 1 Female Member from each UP)	1	6	35	210	210	10.5	XEN off	Nov, 2018	Jan, 2018	
8	08	TOT : Subproject Identification	AEs (Water), Sociologist, Facilitators	1	3	35	105	105	5.775	CTU/ RTC	August, 2018	Sept, 2018	
9	09	Subproject Identification	SAE, CO, UP Chairmen, members and Secretaries	1	27	40	1080	1080	43.20	XEN off	October, 2018	Feb, 2018	
10	15	Progress Monitoring and Review Meetings (Engineering, Institutional and Training) at HQ	AEs (Water), Sociologist, Faciliotators	1	8	28	224	224	12.544	СТИ	Sept, 2018	April, 2018	
11	16	Data Collection for Subproject Appraisal	District XEN/Sr. AE (LGED), AEs (PMU & Water), Sociologist and SAE Upazila	2	5	30	150	300	16.80	СТИ	Sept, 2018	Feb, 2018	
12	17	Planning Methods and Design Concepts	AEs (PMU), District XEN/ Sr. AE (LGED), AEs (Water)	2	3	30	90	180	8.10	СТИ	Sept, 2018	Feb, 2018	
13	20	Training on Computer based Estimate Preparation (RSEPS) and Earth Volume Calculation (EVCS) Software	AEs (Water), SAE and selected SAEs at Upazila level	3	7	20	140	420	16.80		August, 2018	Sept, 2018	
14	21	Understanding Drawings of Hydraulic Structures	AEs (PMU & PIU),SAE	3	3	30	90	270	10.80	СТИ	Sept, 2018	Feb, 2018	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
15	22	Construction Practices and Quality Control	AE (LGED) at district level, UE, AEs (Water), SAE	3	3	30	90	270	10.80	СТИ	October, 2018	Feb, 2018	
16	23	TOT: Training LCSs on Earthwork Methods	UE, AE & AE(Water) at district level, selected SAE,	2	8	31	248	496	19.84	RTC	August, 2018	Sept, 2018	
17	24	Earthwork Methods for LCSs	LCS members	2	30	25	750	1500	3.60	UP / Primary School	Sept, 2018	Dec, 2018	
18	27	TOT: Basic Cooperative, Institutional (WMCA), Micro Credit and Accounts Management, FMC Formation, WMCA By-Laws Drafting	Sociologist, CO, LGED	4	6	36	216	864	19.22	CZI/ RTC	October, 2018	Feb, 2018	
19	28	WMCA Accounts Management Micro Credit Operation for Rehabilitate Project	CO, WMCA MC Staff : Accountant, Treasurer,	2	10	30	300	600	7.50	CZI/ RTC /Primary School	Dec, 2018	April, 2018	
20	31	Member Education Program (MEP)	General members of WMCAs	1	50	250	12500	12500	17.00	Primary School	October, 2018	April, 2018	
		Sub Total			204		17713	20719	294.32				
		Engineering/Technical											
21	SRS 01	Schedule of Rates and Specifications	SAE	2	2	30	60	120	4.20	RTC	43374	43405	
22	TCM 01	Tender, Contract Management for LGED Contractors	Contractors	1	3	25	75	75	2.50	RTC	01-12- 2018	07-12-2018	
23	TOS 01	Total Station (Operation)	AE, UAE, SAE/Surveyor	5	2	16	32	160	7.00	RTCs, Ran	3/2, 10/2/19	7/2/19, 14/2	/19
24	TOS 02	Total Station (Data Processing)	AE, UAE, SAE/Surveyor	5	2	16	32	160	7.00	RTC, Ran	16/2, 24/2/19	20/2/19, 28/	2/19
		Sub Total			9		199	515	20.70				
		Gender and Development (G	GAD)										
25	53	Concept on Gender	PMU and District XEN, LGED / PC	1	2	30	60	60	3.36	CTU/RTC	Sept, 2018	Dec, 2018	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
26	54	TOT on Gender Concept and Gender/Role of Gender in Water Management in Water Management for Field Staff	AE(Water), SAE,Sociologist, Facilitator	3	10	30	300	900	36.00	CTU/RTC	Oct, 2018	Jan, 2018	
27	56	Gender Awareness Training and Role of Gender in Water Management for Field Staff and WMCA Management Committee	CO, Facilitators, WMCA MC	1	10	25	250	250	6.25	RTC /Primary School	Nov, 2018	March, 2018	
		Sub Total			22		610	1210	45.61				
		Social & Environmental Safe	eguard										
28	62	TOT on Environmental Issues including Environmental Mitigation Plan	AEs (Water), Sociologist, Facilitator	2	4	27	108	216	9.72	RTC /Primary School	Jan, 2018	March, 2018	
		Sub Total			4		108	216	9.72				
		Other Training (Domestic):											
29	40	Agriculture Training for Women (Seed processing, vegetable gardening, nursery development, livestock and poultry farming)	Selected WMCA women members	3	5	25	125	375	1.3125	Primary School	Sept, 2018	April, 2018	
30	41	Sustainable Agricultural Production (Improved Farming Technology, ICM/IPM and land, soil and onfarm water management)	Agricultural Sub- committee members, Selected WMCA farmer members (men and women)	5	5	25	125	625	2.19	Primary School	Sept, 2018	April, 2018	
31	42	Agricultural Production and Land Use Plan Preparation a) Ag. Production Plan b) Land Use Map c) Ag. Demonstration	All WMCA Members, men and women	1	5	30	150	150	0.63	Primary School	Sept, 2018	April, 2018	
32	46	Fisheries Program Management Training	WMCA Chairman, Secretary & 2 Fish subcommittee members, Facilitator	3	1	30	30	90	2.7	BFRI / FRI	Sept, 2018	April, 2018	

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
33	60	Training on Income Generating Activities(Ideas and Suggestions) :	Selected Women members of WMCA (Repetation of participant should be avoid)	3	20	30	600	1800	5.40	Primary School	Jan, 2018	April, 2018	
		Sub Total			36		1030	3040	12.23				
		Total of SSSWRDP			275		19660	25700	382.58				
15	Third	Urban Governance and I	Infrastructure li	mprov	eme	nt Proje	ect (UG	IIP-III)					
		Gender and Development (C	SAD)										
1	TOT- GAP	TOT on GAP implementation and Leadership	Chairperson + Member Secretary (WCA), LCDA	3	3	36	108	324	16.2	CTU/RTC	Sep-18	Dec-18	
2	GAP- Impl	GAP Implementation	PMU team	1	2	30	60	60	2.40	СТИ	Aug-18	Aug-18	
3	PRAP- Impl	PRAP Implementation (Refresher)	Standing Committee of PR&SI	1	1	40	40	40	1.60	СТИ	Nov-18	Mar-19	
		Sub Total			6		208	424	20.20				
		Social and Environmental S	<u>afeguards</u>										
4	SFD	Resettlement and Environmental Safeguard (5 additional PS)	XEN, AE, SAE	2	1	15	15	30	1.50	CTU	Sep-18	Sep-18	Additional Funding
		Sub Total			1		15	30	1.50				
		Technical/Engineering											
5	QC-CW	Construction and Quality Control of Civil Works (5 Additional PS)	XEN, AE, SAE, SAE (UGIIP3)	2	1	20	20	40	2.00	СТИ	Oct-18	Oct-18	
6	WS SP Impl	Technical Training on Implementation of Water Supply Sub project	XEN, AE(WS)of PIU and AE/SAE, DPHE	2	2	20	40	80	4.00	DPHE	Sep-18	Sep-18	WS Comp
7	WSS O&M	O& M of Water Supply System	Pump Ope/Asst, Pipe line mechanics,	2	4	30	120	240	9.60	DPHE	Feb-19	Feb-19	WS Comp

SL No.	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
8	SLA	Understanding Design, Construction Procedures and Quality Control of Sanitary Landfill	XEN	1	1	36	36	36	1.80	СТИ	Jul-18	Jul-18	SWM Comp
9	FSTP	Understanding of design, Construction procedures of Fecal Sludge Treatment Plant	XEN, AE, SAE, ME	1	4	36	144	144	7.20	СТИ	Jul-18	Jul-18	SWM Comp
10	SLF & FSTP O&M	Operation and Maintenance of Sanitary Landfill and Fecal Sludge Treatment Plant	XEN, AE, SAE, CI and MO	1	4	36	144	144	7.20	СТИ	Aug-18	Aug-18	SWM Comp
11	ISWM	Integrated Solid Waste Management	Medical Officer (MO) and Conservancy Inspector (CI)	1	2	36	72	72	3.60	DPHE	Jan-19	May-19	SWM Comp
12	RM & MMT	Road Maintenance incl. Mobile Maintenance (Additional Pourashava)	XEN, AE, SAE	2	1	15	15	30	1.50	СТИ	Jul-18	Jul-18	
13	OJT WS	OJT on Water Supply Sub Project Construction	Contractors (XEN/AE will remain as Observer)	1	8	30	240	240	6.00	RTC	Sep-18	Jan-19	WS Comp
14	OJT SL FSTP	OJT on Sanitary Landfill and FSTP	Contractors (XEN/AE will remain as Observer)	1	8	30	240	240	3.60	RTC	Sep-18	Jan-19	SWM Comp
15	CNT GSQ	Contractors'/Tenderers' Training (Gender, Safeguard and Quality Control)	Contractors/Tendere r, XEN, AE, SAE & ME	1	2	30	60	60	3.50	RTC	Jul-18	Dec-18	
16	CNT	Contractors' Training (Tender Form Filling, Contract Management and Quality Control)	Pourashava and LGED Contractors /Tenderer	1	4	30	120	120	6.00	RTC	Jul-18	Dec-18	
		Sub Total			41		1251	1446	56.00				

		Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche s	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
			Computer based Training/IC	<u>T</u>										
	7	10 1 1 1	Practical training on different softwares	Acct Officer, Accountant, Water Super, Tax Collector, Asstt Tax Collector, Tax Assessor, Asstt Tax Assessor, Licence Inspector, Bill Clerk, Com Operator	1	36	10	360	360	10.80	Pourashava	Jul-18	Aug-18	GICD1=3 1 PS & GICD2= 5 PS
			Sub Total			36		360	360	10.80				
			Finance, Accounts and Aud	it Mangement										
,			Financial Management and Auditing (for Wondow B Pourashavas)	XEN, Secretary, Accounts Officer and Accountants	1	7	16	116	116	3.48	CTU	10/7, 11/7, 15/7, 16/7 and Dec 18.	10/7, 11/7, 15/7, 16/7 and Dec/18.	
,	9	Bud	Refresher Training on Budget Preparation & Utilization (Window A Pourashavas)	XEN, Secretary, Accounts officer & Accountant	1	3	40	120	120	6.00	СТИ	Apr-19	Apr-19	
2	20		Resource Mobilization (Holding Tax)	Mayor, councilor, Secretary, Assessor, Asst Assessor, Collector, Asst Collector	2	8	27	216	432	15.12	Pourashava	Sep-18	Oct-18	
2	21		Resource Mobilization (Indirect Sources)	Chairperson of Estb & Finance STC, Secretary, Market Inspector, Collector, Asst Collector, Licence Inspector, Asst Licence Inspector	2	7	31	217	434	15.19	RTC	Aug-18	Sep-18	

_	Course Code	Course Title	Category of Participants	Duration (day)	No. of Batche	Participants per batch	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14
22		Budget Preparartion	Chairperson of Estb and Finance STC, members of Acct and Audit STC, XEN, Sec, AE, Acct Off, Accountant and Asst Accountant	2	5	36	180	360	12.60	RTC	Nov-18	Dec-18	
		Sub Total			30		849	1462	52.39				
		PPR/e-GP											
23	Con. Adm	Contract Administration	Mayors, XENs	1	2	36	72	72	4.32	CTU			
		Sub Total			2		72	72	4.32				
		Urban Management											
24	UM TLCC	Formation, Functions & Responsibilities of TLCC	TLCC Members	1	5	30	150	150	5.25	va	Jul-18	Aug-18	GICD 2
25	UM WC	Formation, Functions & Responsibilities of WC	WC Members	1	36	45	1620	1620	32.40	Pourasha va	Feb-19	Mar-19	
26		Formation, Functions & Responsibilities of Standing Committees	Members of Standing Committees	1	36	14	504	504	17.64	Pourasha va	Mar-19	Apr-19	
27	UM UPL	Pourashava Urban Planning	XEN, Sec, HO/SI, AE/SAE, SDO and UPlanner,	2	2	33	66	132	5.28	RTC	Jan-19	Feb-19	
		Sub Total			79		2340	2406	60.57				
	Grand	Total of UGIIP-III			195		5095	6200	205.78			•	
	LEGEND												
	CI= Cons Medical C	servancy Inspector, GICD= Governal Officer, MDS= Management Design a Inspector, SC= Standing Committee	and Supervision, PME	=Perform	namnce	Monitorin	g and Eva	luation, PR&	SI= Pover	ty Reduction	n and Slum	Improvemen	
	Total Tra	aining under Revenue Fund			167		4180	12471	368.82				
		aining under Development Fund			2489		77383	511357	3175.20				
	Grand T	otal under Revenue and ment Fund			2656		81563	523828	3544.02				

Local Government Engineering Department

Detailed Plan for Workshop/Seminar for FY 2018-19

SL No.	Course Title	Category of Participants	Duratio n (day)	No. of Batches	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12
1. C	oastal Climate Resilient	Infrastruct	ure Pi	roject (C	CRIP)						
1	Training Workshop on Maintenance Planning and Management	XEN, Sr.AE, AE	1	3	100	300	15.00	СТИ	Oct 18	Oct 18	
		LGED Officials, PMO,PUI, Government Officials of Relevant Ministries & Agencies, NGO Officials, Public Representive, LG Funtionaries, Women representative, Media Person	1	1	50	50	3.00	СТИ	Sep-2018	Sep-2018	
3	Knowledge Management Policy Workshop	LGED Seniors Officials, Officials of MLGRDC and other related Mininstries and agencies,	1	1	50	50	3.00	СТИ	Oct-2018	Oct-2018	
	Sub Total CCRIP			5	200	400	21.00				

SL No.	Course Title	Category of Participants	Duratio n (day)	No. of Batches	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	Location/ Venue	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12
2. C	oastal Towns Environm	ental Infrast	ructu	re Proje	ct (CTE	IP)					
1	Semi-Annual Workshop focusing project Management, Monitoring, and Review of Progress on targetted activities, assess overall complainance with social and Environmental Safeguard, identity problem/challences and means to mitigate them	PIU (Mayors/Panel Mayors, Executive and Assistant Engineers, Secretary, PMU officials, Consultants	2	1	50	100	3.75	LGED HQ	Sept 18	Sept 18	
	Sub Total CTEIP			1	50	100	3.75				
3. H	aor Flood Management	and Liveliho	od Im	proven	nent Pro	ject (HF	MLIP)				
1	Consulting meeting with GO & NGO	LGED/BWDB/Do F/JICA officials etc	1	3	75	75	4.50	СТИ	10.9.2018	31.12.2018	
	Workshop on Progress Review of 2017-18 and annual work plan for 2018-19	LGED and Project staff	1	5	125	125	5.00	Project Dist	22.7.2018	14.8.2018	
3	Seminar on finding of Base line/ Mid Term/ WF study	LGED/BWDB/Do F/JICA officials	1	4	100	100	6.00	CTU	10.2.2019	30.3.2019	
4	Seminar on finding of RM	LGED and Project Staff	1	4	100	100	6.00	Project Dist	20.8.2018	30.09.2018	
	Sub Total HFMLIP			16	400	400	21.50				
4. H	aor Infrastructure and L	ivelihood In	nprove	ement P	roject (l	HILIP)					
1	Dissemination workshop for Community Resource Management (CRM)	LGED/HILIP Officials	1	6	120	120	22.95	СТИ	15.07.201 8	30.06.2019	
2	Start-up workshops and progress review & planning meeting at PMU and district level	LGED/HILIP Officials	1	26	1300	1300	48.79	СТИ	15.07.201 8	30.06.2019	

SL No.	Course Title	Category of Participants	Duratio n (day)	No. of Batches	Total Participants	Total Trainee days	Estimated Cost TK (Lakh)	\/eniie	Start Date	End Date	Remarks
1	2	3	4	5	6	7	8	9	10	11	12
3	Workshop on Flush Flood Early Warning System (FFEWS)	LGED, HILIP & Partner Institution Officials	1	3	180	180	8.00	СТИ	15.07.201 8	30.06.2019	
	Sub Total HILIP			35	1600	1600	79.74				
5 . F	Rural Transport Improve	ment Projec	t (RTI	P-2)							
1		XEN, Sr.AE, UE, UAE, AE, SAE	1	16	1600	1600	16.00	RTC	Aug/18	Aug/18	
	Sub Total RTIP-2			16	1600	1600	16.00				
6. T	hird Urban Governance	and Infrastr	uctur	e Improv	vement	Project ((UGIIP-I	II)			
1		Mayor, CEO, XEN, Secretary	1	1	120	120	7.20	СТИ	Sep-18	Sep-18	
2	Window B Pourashavas	Mayor, CEO, XEN, Secretary	1	1	65	65	3.90	СТИ	Sep-18	Sep-18	
3		Mayor, CEO, XEN, Secretary	1	1	120	120	7.20	СТИ	Mar-19	Mar-19	
4	(Urban Governance Improvement Action Plan) for Window B Pourashavas	Mayor, CEO, XEN, Secretary	1	1	65	65	3.25	СТИ	Mar-19	Mar-19	
5	Courtyard Meeting (GAD, PRAP)	Beneficiaries	1	2912	87360	87360	62.65	Pourashav a	Jul-18	Jun-19	
	Awareness Rallies (IWD, Sanitation Month, Women Rights)	Beneficiaries	1	108	3240	3240	56.10	Pourashav a	Jul-18	Jun-19	
	Sub Total UGIIP-III			3024	90970	90970	140.30				
Grar	nd Total (Seminar, Workshop	p, Meeting etc)	3097	94820	95070	282.29				

Local Government Engineering Department

Detail Training Achievement for FY 2017-18 (Plan Vs. Achievement)

						Rev. P	LAN								- 1	CHIEV	EMEN	Т						
			ι											Category	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, iilitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.	Tot	tal Particip		Total Trainee days	Actual Exp. (LT)	Remarks
1	2	3	4	5	6	7	8	0	10	11	Male 12	Female 13	14	Female 15	Male 16	Female 17	Male 18	Female 19	20	Female 21	Total 22	23	24	25
A.		ing Under Reven				В)																		
	Admin	istration & Managemer	nt																					
1		Project Management (Including Identification, Formulation, Approval, Monitoring & Evaluation)	PD, EE	2	1	30	60	1.24	2	1	26	0	0	0	0	0	0	0	26	0	26	52	1.24	
2		Risk Assessment and Management System	EE, Sr.AE, UE, AE	2	2	40	80	2.86	2	2	38	3	0	0	0	0	0	0	38	3	41	82	2.86	
3		Contract Management for Works	EE, Sr.AE, UE, AE, UAE	2	2	40	80	1.65	2	1	19	1	0	0	0	0	0	0	19	1	20	40	1.65	
4	тот	Training of Trainers (TOT)	Sr.AE, UE, AE, UAE	5	1	30	150	2.76	5	1	18	2	0	0	0	0	0	0	18	2	20	100	2.76	
5	Admn RM	Office Management	Sr.AE, UE, AE, UAE	2	2	60	120	3.99	2	2	60	0	0	0	0	0	0	0	60	0	60	120	3.99	
		Sub Total			8	200	490	12.5	13	7	161	6	0	0	0	0	0	0	161	6	167	394	12.5	
		r & Development																						
6		Training on Gender & Development Batch-01	Sociologist, AE,	2	2	60	120	2.02	2	1	26	4	0	0	0	0	0	0	26	4	30	60	2.02	
		Sub Total			2	60	120	2.02	2	1	26	4	0	0	0	0	0	0	26	4	30	60	2.02	
		ical / Engineering																						
7		Bridge Planning and Management (Hydromorphology)	Sr.AE, AE,UE, UAE (Selected)	3	1	30	90	2.73	3	1	27	0	0	0	0	0	0	0	27	0	27	81	2.73	

						Rev. P	ΙΔΝ									ACHIEV	FMFN	т						
						KCV. I	LAN							Category			LIVILIA	<u>. </u>						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED		.GI	Bene (WMC MMC Fac CDC Farme	officiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3 Deiden Construction	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
8		Bridge Construction Management (Pre-stress)	Sr.AE, AE,UE, UAE (Selected)	5	1	30	150	4.08	5	1	31	0	0	0	0	0	0	0	31	0	31	155	4.02	
9	QCT-1	Quality Control-1 (Compaction of Soil, Aggregate & their test)	Sr.AE, AE, UE, UAE	5	2	50	250	7.06	5	2	48	0	0	0	0	0	0	0	48	0	48	240	7.06	
10	QCT-2	Quality Control -2 (Bitumen, Cement, Concrete)	Sr.AE, AE, UE, UAE	5	2	50	250	8.51	5	2	63	0	0	0	0	0	0	0	63	0	63	315	8.51	
11	QCT-6	Quality Control-6 (Sub-soil Investigation)	Sr.AE, AE, UE, UAE	4	2	60	240	7.2	4	2	61	0	0	0	0	0	0	0	61	0	61	244	7.20	
		Sub Total			8	220	980	29.58	22	8	230	0	0	0	0	0	0	0	230	0	230	1035	29.52	igsquare
		uter Based Training/ICT							Ш															
12		e-Filing Training	LGED official	1	8	160	160	5.76	1	8	135	32	0	0	0	0	0	0	135	32	167	167	5.76	
13	ICT	Training on Information & Communication Technology (ICT)	SAE, Comp. Ope	1	2	40	40	3.65	5	2	19	21	0	0	0	0	0	0	19	21	40	200	3.65	
		Sub Total			10	200	200	9.41	6	10	154	53	0	0	0	0	0	0	154	53	207	367	9.41	
	Financ	ce, Accounts and Audit	Management	t																				
14	AUD MNGT	Audit Management	Sr. AE, UE, AE, Acct., UDA	2	3	90	180	5.65	2	3	86	2	0	0	0	0	0	0	86	2	88	176	5.75	
15	one stage Two Env	One Stage Two Envelope	PD, Sr.AE, AE	1	1	20	20	0.84	1	1	20	3	0	0	0	0	0	0	20	3	23	23	0.84	
		Sub Total			4	110	200	6.49	3	4	106	5	0	0	0	0	0	0	106	5	111	199	6.59	\square
		Sub Total CTU HQ			32	790	1990	60.00		30	677	68	0	0	0	0	0	0	677	68	745	2055	60.04	
	Regio	nal Training Centers	(RTC)																					
1	ОМ	Office Management	UDA/OA	3	17	510	1530	26.12	3	17	450	49	0	0	0	0	0	0	450	49	499	1497	26.12	
2	QCT-9	Supervision and Quality Control (QCT-9)	SAE, WA	3	14	420	1260	25.87	3	14	399	11	0	0	0	0	0	0	399	11	410	1230	25.87	

						Rev. P	LAN								- 1	CHIEV	EMEN	Т						
			δ											Category	of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
													Male	Female	Male	Female	Male	Female	Male	Female	Total			
3	ICT- BCT	Basic Computer Training (BCT/ICT) Batch-01	Acct, UDA, Office Asst. & Acct. Asst., Com Ope	5	30	300	1500	42.84		30	248	52	0	0	0	0	0	0	248	52	300	1500	42.84	25
4	SIC	Construction Technique, Supervision of Infrastructure Works (SIC)	SAE, D/M	5	4	100	500	9.41	5	4	97	3	0	0	0	0	0	0	97	3	100	500	9.41	
5	TOT- TS	TOT on Digital Surveying/Total Station (Phase-1) Field Work	EE (Div/Reg), Sr.AE, UE, AE	6	1	14	84	3.60	6	1	14	0	0	0	0	0	0	0	14	0	14	84	3.60	
6	TOT- TS	TOT on Digital Surveying/Total Station (Phase-2) Dala Analysis	EE (Div/Reg), Sr.AE, UE, AE	6	1	14	84	3.60	6	1	14	0	0	0	0	0	0	0	14	0	14	84	3.60	
7	Ref. TS	Refresher Training on Total Station Operation	SAE, Surveyor	0	1	14	14	0.94	1	1	14	0	0	0	0	0	0	0	14	0	14	14	0.94	
8	TS	Digital Surveying/Total Station (Phase-1) Field Work	SAE/Surveye r (seleted)	5	4	56	280	10.21	5	4	56	0	0	0	0	0	0	0	56	0	56	280	10.21	
9	TS	Digital Surveying/Total Station (Phase-2) Dala Analysis	SAE/Surveye r (seleted)	5	4	56	280	10.93	5	4	56	0	0	0	0	0	0	0	56	0	56	280	10.93	
10	OJT- SPT	On Job Training on SPT	SAE, WA	2	4	96	192	4.41	2	4	95	1	0	0	0	0	0	0	95	1	96	192	4.41	
11	OJT-Br	On Job Training on Bridge works (sub soil boring and casting/scafolding/pre- stressing etc) incl bridge inspection		2	5	150	300	7.4	2	5	149	1	0	0	0	0	0	0	149	1	150	300	7.40	
12	OJT- Road	On job Training on Roads (WMM/WBM)	Sr.AE,UE, UAE, SAE, WA	1	13	390	390	12.67	1	13	378	12	0	0	0	0	0	0	378	12	390	390	12.67	

						Rev. P	LAN								F	CHIEV	EMEN	T						
			ts											Category	of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male		Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	OJT on Load test Integrity	UE, SAE	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
13	OJT- LdT	OJ i on Load test integrity	(selected)	2	3	90	180	4.31	2	3	89	1	0	0	0	0	0	0	89	1	90	180	4.31	
14	OJT Plumbi ng	On the Job Training (OJT) on Plumbing Works	UE, UAE, AE	2	15	450	900	21.22	2	15	431	9	0	0	0	0	0	0	431	9	440	880	21.22	
15	OJT Electri cal	On the Job Training (OJT) on Electrical	UE, UAE, AE, SAE	1	16	480	480	15.03	1	16	468	10	0	0	0	0	0	0	468	10	478	478	14.75	
16	E- Module TOT	E-Module ToT on Code of Conduct	UE, UAE, SAE	1	2	54	54	1.44	1	2	52	1	0	0	0	0	0	0	52	1	53	53	1.22	
		Total RTC			134	3194	8028	200		134	3010	150	0	0	0	0	0	0	3010	150	3160	7942	199.50	
		Total Revenue (CTU +	RTC)		166	3984	10018	260.00		164	3687	218	0	0	0	0	0	0	3687	218	3905	9997	259.54	
В.	Train	ing Under Devel	opment B	ud	lget	(Proj	ect)																	
1.0	Coas	tal Climate Res	silient In	fra	str	uctu	re P	roje	ct ((CCI	RIP)													
	Social	& Environmental Safeg	guard																					1 1
1	Mgt.	Training on Enviornmental & social safeguards	Sr.AE, UE, AE LGED,	1	2	91	91	2.70	1	2	90	1							90	1	91	91	2.7	
	Techn	ical / Engineering																						1 1
2	Bld Main	Training on Quality Control in Construction of	Sr,AE, UE, Asst. Eng.	3	3	105	315	7.70	5	3	59	3							59	3	62	310	7.7	
3	BIO	Training on Bio- engineering Protection of	Add.CE, SE, PD, XEN, Sr.	1	1	45	45	2.37 8.86	1	1	38	7							38	7	45	45	2.37	
4	Bld. Training on Cyclone Cyclone Shelter Shelt									22					533	120			533	120	653	653	8.86	
	Financ	ce/Accounts and Audit	Management																					
5	Soft- TOMP	Training on Financial Management System	XENs, Sr. AEs, AEs,	1	3	90	90	2.00											0	0	0	0		

						Rev. P	LAN								A	CHIEV	EMEN	Т						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED	L	Category	Bene (WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, litator, C,BUG, s, TLCC, C etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
1	2	3	4	5	6	7	8	0	10	11	12	Female 13	14	15	Male 16	Female 17	Male 18	Female 19	Male 20	Female 21	Total 22	23	24	25
6	Soft-	Training on Financial Management System	Accountant. FMO	1	2	40	40	2.00		1	30	1	14	13	10	- 17	10	19	30	1	31	31	0.81	25
	Climat	e Change							П															
7	CCH	Training on Climate Change Hazards, Impacts	EE, Sr.AE,AE,	1	1	64	64	2.40	1	1	52	12							52	12	64	64	2.4	
8		Training on Climate Change Hazards at District level.	DC , Addl.DC, DRRO, District LAO, SP, District Livestock Officer, District Fisheries Officer, XEN, PEDP, District Youth Development Officer, District Information Officer, District level Govt and NGO Official and XEN, Sr.AE,AE, LGED,	1	7	350	350	10.70	1	7					283	33			283	33	316	316	10.704	

						Rev. P	LAN								- /	CHIEV	EMEN	T						
			ιχ											Category										
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male			Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3		5	6	7	8		10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
9	ссн	and Ādaptation at Ūpazila level.	Chairman (Female), Mayor, Pourashava, Concerned Local Councillor, Local Ward Member Local UP Chairman, UNO, Govt. Official ,Professional Groups, and Education Institutions Members	1	28	1250	1250	28.20	1	28					993	257			993	257	1250	1250	28.56	
10	CCH		Local Elected Bodies,		28	750	750	16.24	1	28					544	156			544	156	700	700	16.114	
11	CRD	Resilient Designs and	Sr,AE, UE, Asst. Eng.	1	4	136	136	4.40	1	4	135	1							135	1	136	136	4.4	
12	CCH	Training on Cyclone Shelter Specific Union	Local Elected Bodies,	1	10	400	400	4.62	1	10					308	92			308	92	400	400	4.62	
	Other	Training if any (domest	ic)																					
	A. Pro	ject Awareness and Imp	olementation																					
13	SH- MMC	Training on Rural Market Participatory Planning (ADB)-B.1	MMC members.	1	7	175	175	2.00	1	7					114	61			114	61	175	175	2.45	

						Rev. P	LAN								A	CHIEV	EMEN	Т						
			Ω											Category	of Parti	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
1	0	3	4	_	6	7	0	0	40	11	Male 12	Female 13	Male 14	Female 15	Male 16	Female 17	Male 18	Female 19	Male 20	Female 21	Total 22	23	24	25
14		Market Management Training (ADB & IFAD) B.2	MMC members, women sellers, permanent & Temporary traders.	1	25	625	625	7.67	1	25	12	13	14	15	475	150	18	19	475	150	625	625	7.67	25
15		Market Users and Stakeholders Training	Selected MMC	1	30	1200	1200	10.07	1	30					1045	150			1045	150	1195	1195	10.07	
	B. Ben	neficiary Training (IGA)																					
16		Training on Income Generating Activities	LCS members	1	20	568	568	8.31	1	20							46	522	46	522	568	568	8.31	
17	IGA	Training on Income Generating Activities-	Backyard Poultry	1	10	240	240	4.90	1	10					28	212			28	212	240	240	4.9	
18		Special IGA (Covering Production, Management	Commercial Farm owners	1	5	118	118	2.46	1	5					90	28			90	28	118	118	2.46	
19		Special IGA- Training on Selling and Market Visit	Special IGA- Training on	1	5	114	114	1.93	1	5					87	27			87	27	114	114	1.93	
	E. Wor	men Market Users Trair	ning																					
20	SH- MMC	Women Market User Selection Process	Women Shop users,	1	5	100	100	1.00	1	5							8	92	8	92	100	100	1.00	
	C.Labo	our Contacting Society	Training																					
21		LCS Operation Management Training	LCS members.	2	10	290	580	5.48	2	10					230	60			230	60	290	580	5.48	
	D. MM	C, WMS, Training							П															
22		Upazila Market Management Training	UMMC, MMC	1	25	748	748	21.25	1	25					646	102			646	102	748	748	21.25	
	I. Adv	ance Skill Developmen	t Training						П															
23	LCS- TP	Training on Tree Plantation and	LCS Members	1	4	150	150	2.00											0	0	0	0		
	E. LGE	ED Training and Knowle	edge Manage	me	nt																			

						Rev. P	LAN									ACHIEV	EMEN	Т						
			Si Si											Category	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, ilitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male		Male	Female	Male	Female	Male	Female	Male	Female	Total			
24		Training on Knowledge Management & concept	LGED Official , CCRIP	1	1	7 58	- 8 - 58	2.35	10 1	11	12 47	13 11	14	15	16	17	18	19	20 47	21 11	58 58	23 58	24	25
		Total CCRIP			258	8360	8860	161.61		250	451	36	0	0	5376	1448	54	614	5881	2098	7979	8517	157.11	
2. C	har	Development	& Settler	me	ent	Proj	ect-l	V (C	DS	SP-I\	/).													
<u>A</u>	Admin	istration & Managemen	<u>nt</u>																					
1		Contract Management Training for Contractor	Contractor/ Sub Contractor	1	1	20	20	1.00	1	1					15	5			15	5	20	20	0.36	23/01/ 18
S	Social	& Environmental Safeg	uard																					
2		Training on Market Maintenance & Management for user's Group (MMC & UP, Chairman, LCS Member)	Market Users Group	1	4	80	80	2.00	1	4					70	10			70	10	80	80	1.67	19/09/ 17, 22/09/ 17, 08/11/ 17 & 09/11/ 17
3		Training on Cyclone Shelter Operation, Maintenance & Management (School MC & UP, Chairman, Member, Teacher, Contractor)	Cyclone Shelter Users Group	1	2	40	40	2.00	1	2					20	20			20	20	40	40	0.83	29/11/ 17
4		Training on Road Construction & Management (LCS Member)	LCS Member	1	5	80	80	1.50	1	5					45	35			45	35	80	80	0.67	23/10/ 17 24/10/ 17 & 29/10/ 17 30/10/ 17
<u></u>	-ech	n		Member) LCS Member	Member) LCS Member 1	Member) LCS Member 1 5	Member) LCS Member 1 5 80	Member) LCS Member 1 5 80 80	Member) LCS Member 1 5 80 80 1.50	Member) LCS Member 1 5 80 80 1.50 1	Member) LCS Member 1 5 80 80 1.50 1 5	Member) LCS Member 1 5 80 80 1.50 1 5	Member) LCS Member 1 5 80 80 1.50 1 5	Member) LCS Member 1 5 80 80 1.50 1 5	Member) LCS Member 1 5 80 80 1.50 1 5	Member) LCS Member 1 5 80 80 1.50 1 5 45	Member) LCS Member 1 5 80 80 1.50 1 5 45 35	Member) LCS Member 1 5 80 80 1.50 1 5 45 35	Member) LCS Member 1 5 80 80 1.50 1 5 45 35	Member) LCS Member 1 5 80 80 1.50 1 5 45 35 45	Member) LCS Member 1 5 80 80 1.50 1 5 45 35 45 35	Member) LCS Member 1 5 80 80 1.50 1 5 45 35 45 35 80	Member) LCS Member 1 5 80 80 1.50 1 5 45 35 45 35 80 80	Member) LCS Member 1 5 80 80 1.50 1 5 45 35 45 35 80 80 0.67

						Rev. P	LAN								-	CHIEV	EMEN	Т						
			str											Categor	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Fac CDC Farme	ficiaries CA,FMC, C, FSO, iilitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female		Female		Female	Male	Female	Male	Female	Total			
5	2	Training on Improving	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
5		masonry skils and construction technique. (Mason)	Local Mistry (Project Area)	2	2	40	80	2.50	2	2					40				40	0	40	80	1.70	18/9/2 017-& 30/10/ 2017
6		Training on Total Station Survey Procedure	AE /SAE/ Surveyor	5	2	28	140	7.00	5	2	28								28	0	28	140	5.97	11/02/ 18, 15/02/ 18, & 25/02/ 18,
		Total =			16	288	440	16.00		16	28	0	0	0	190	70	0	0	218	70	288	440	11.20	01/03/ 18
3.0	City C	Governance Pro	oject (Co	GP	P)																			
1	LDSC	Training on Capacity Development for the members of Law & Discipline Standing Committee (LDSC)	CCs Member & law related officers		1	19	19	0.44	1	1			18	1					18	1	19	19	0.44	
2	QC	Training on Quality Control	Sub- Assistant Engineers	5	1	17	85	3.47	5	1	1	0	16	0					17	0	17	85	3.47	
3	FRR	Training on function, roles & responsibility of Standing Committee for NCC & CoCC (Newly formed)	CC Councilors	1	2	66	66	1.78	1	2			56	10					56	10	66	66	1.78	
4	KAIZEN	Refresher Training of CCs KAIZEN Implementation	CC Officials	1	5	134	134	3.16	1	5			130	4					130	4	134	134	3.16	

						Rev. P	ΙΔΝ									CHIEV	FMFN	Т						
			(0											Category				•						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
5	ТВМ	Refresher Training on Basic Management for CO	Community Organizer	2	2	55	110	3.10	2	2			45	10					45	10	55	110	3.10	
6	GAP	Training on Gender Action Plan (GAP) preparation	CC Officials, Councilors	1	1	23	23	0.86	1	1			13	10					13	10	23	23	0.86	
7	IGA	IGA Training under PRAP	Community People	21	5	130	2730	46.00	21	5			0	0	0	130				130	130	2730	46.00	
8	SDT	Skill Development Training for Group Leader and Secretary of Primary Groups (PGs) under PRAP	Community People	1	25	750	750	22.00	1	25			0	0	0	750			0	750	750	750	21.88	
9	BPT	Building permission training	CC Enginners and planners	1	1	20	20	0.88	1	1			18	2					18	2	20	20	0.88	
10	B-MAP	Training on Preparation of base map and land-use map	CC Enginners and planners	2	1	20	40	1.76	2	1			18	2					18	2	20	40	1.76	
11	CBEP	Training of City beautification and environmental protection/preservation	CC Enginners and planners	1	1	45	45	1.46	1	1			35	3	3	4			38	7	45	45	1.46	
12	UPBL	Training on Comprehensive urban planning, building and land use Control	CC Enginners and planners	1	1	45	45	1.45	1	1			35	3	3	4			38	7	45	45	1.45	
		Total CGP			46	1324	4067	86.36		46	1	0	384	45	6	888	0	0	391	933	1324	4067	86.24	
4.0	Clima	nte Resilient Ru	ıral Infra	st	ruc	ture	Proj	ject ((CI	RRIF	2)													
1		On the job training on Participatory Rural	Local Community,	1	117	2573	2573	10.02	1	117			1286	351	721	61	0	154	2007	566	2573	2573	10.02	
2	DM- CCA	Climate Change Adaptation Awareness	Union Parishad	0					0															

						Rev. P	LAN								-	CHIEV	EMEN	Т						
			ts											Categor	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
1	2	3	4	5	6	7	8	0	10	11	Male 12	Female 13	Male 14	Female 15	Male 16	Female 17	Male 18	Female 19	Male 20	Female 21	Total 22	23	24	25
3		Civil Works Supervision Training for Scheme	SSC Members	0	· ·	/	8	9	0	- 11	12	13	14	15	10	17	18	19	20	_ Z1		23		2 5
4	SH-W	Civil Works Implementation Training	WC Members	0					0															
5		Scheme Implementation Training for Labour	LCS Members	2	465	10316	20632	120.4	2	465							1181	9135	1181	9135	10316	20632	120.42	
6		Scheme Implementation Training for Labour	LCS Members	1	4	140	140	0.87	1	4							140	0	140	0	140	140	0.87	
7	HR	Awareness training on Human Rights Issues for	LCS Members	1	123	4299	4299	25.8	1	3							0	155	0	155	155	155	2.81	
8	LCS- IGA	Income Generating Activities for LCS	LCS Members	1	123	4299	4299	27	1	12							0	470	0	470	470	470	0.98	
9	ToT- FLT	ToT on Functional Literacy Training for Animators	Animators	4	3	78	312	4.9	4	3					0	72	0	0	0	72	72	288	4.90	
10	LCS- FLT	Functional Literacy Training for LCS	Members	99	72	1440	142560	64.57	99	72							0	1440	0	1440	1440	142560	64.57	
11	SH- OW	Orientation Course on CRRIP for UP Chairman	UP Chairman,	0	0	0	0	0	0	0														
		Training on LCS Methodology for LGED	LGED & TA Staff	2	3	109	218	2.32	2	3	77	32							77	32	109	218	2.32	
13	UR-DgT	Total Station Survey training for LGED staff	LGED & TA Staff																					
		Total CRRIP			910	23254	175033	255.9		679	77	32	1286	351	721	133	1321	11354	3405	11870	15275	167036	206.89	

SL No.			χ																					
SL														Category	of Parti	cipants								
	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LG	GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries A,FMC, F, FSO, litator, F,BUG, S, TLCC, C etc.)	contract	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female		Female	Male	Female	Male	Female	Male	Female	Total			
1		3		5	6	7	8		10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
5.0	Coast	tal Town Envir	onmenta	d li	nfra	asruo	cture	Pro	oje	ct (C	CTE	IP)												
		and Environmental Saf	eguard																					
1		Quality Control & Social and Environmental Safeguard	Executive and Assistant Engineers of Pourashava and PMU Engineers	3	1	20	60	2.58	3	1	5	4	19	-		-		-	24	4	28	84	3.78	
		ical/Engineering																						
2		Integrated Environmental Sanitation (IES) and Water Supply Management	Mayor, Councilor and Head of Conservancy Section/ Consurvancy Inspector and PMU Engineers	1	1	20	20	1.10	1	1	11	3	11	1		-		-	22	4	26	26	0.78	
	Comp	uter Based Training/ICT																	-	-	-	-		
3		Contract Management System	Engineers	3	1	20	60	2.67	3	1	1	2	19	-		-			20	2	22	66	2.67	

						Rev. P	LAN								A	CHIEV	EMEN	Т						
			ιχ											Category	of Parti	cipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		.GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, litator, C,BUG, cs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
1	2	3	4	5	6	7	8		10	11	Male 12	Female 13	Male 14	Female 15	Male 16	Female 17	Male 18	Female 19	Male 20	Female 21	Total 22	23	24	25
4		Financial Management as per ADB Guidelines	Account's officer/Acco untant of Pourashava and PMU Officials	3	1	20	60	2.65	2	1		2	24	1		-		-	24	3	27	54	2.65	25
		Total CTEIP			4	80	200	9.00	_	4	17	11	73	2	0	0	0	0	90	13	103	230	9.88	
6.E	mer	gency 2007 Cy	clone Re	ec	ove	ry ar	าd R	esto	ra	tion	Pro	ject	(EC	RRP)									
1		Training on design based software like STTAD pro	PD,DPD,XEN s,Sr.Aes,UEs and AEs	6	1	20	120	4.00	6	1	19	0	-	-	-	-	-	-	19	0	19	114	3.90	
2		Training on ICT based of LGED officials	PMU officials, XENs, Sr.Aes,UEs and AEs	5	1	20	100	3.20	5	1	16	3	-	-	-	-	-	-	16	3	19	95	3.34	
		Total ECRRP			2	40	220	7.20		2	35	3	0	0	0	0	0	0	35	3	38	209	7.24	
7.F	laor	Flood Manage	ment and	d I	ive	liho	od Ir	npro	VE	eme	nt P	roied	et (H	FML	IP)									
	1	istration & Managemen													,									
1		Training on Fisheries Management	Officials	2	2	50	100	3.36	2	2	46	4	0	0	0	0	0	0	46	4	50	100	3.36	
2	Ĭ	Training on Khal Re- excavation under Community Infra.	LCS Members	1	26	624	624	5.72	1	26	0	0	0	0	524	100	524	140	1048	240	1288	1288	5.72	
3	Con-W	Training on Beel Re- excavation under Community Infra.	LCS Members	1	20	480	480	4.40	1	20	0	0	0	0	380	100	380	140	760	240	1000	1000	4.40	
4	LCS-W	Training on Infrastructure Construction	IMC Members	1	40	400	400	4.80	1	40	0	0	39	39	7	3	289	139	335	181	516	516	4.80	
	Techn	ical/Engineering																	0	0	0	0		
5	AQUA- Net	Fish Net-Pen Culture	Beneficiaries	1	3	73	73	0.66	1	3	0	0	0	0	60	10	0	50	60	60	120	120	0.66	

						Rev. P	LAN								A	CHIEV	EMEN	T						
			ts											Category	y of Parti	cipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries A,FMC, F, FSO, litator, B,BUG, s, TLCC, C etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2 AQUA-	3	4	5	6	7	8		10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
6	Cage	Fish Cage Culture	Beneficiaries	1	2	24	48	0.44	1	2	0	0	0	0	12	12	0	0	12	12	24	24	0.44	
7	AQUA- Pond	Fish Pond Culture	Beneficiaries	1	9	216	216	1.98	1	9	0	0	0	0	0	216	0	216	0	432	432	432	1.98	
	Financ	ce/Accounts and Audit I	<u> Management</u>																0	0	0	0		1
8	BUG- Mgt	Training on Beel Management	BUG members	1	42	1020	1020	9.24	1	42	0	0	0	0	721	287	0	0	721	287	1008	1008	8.90	
9	BMC- Mgt	Training on Beel Management	BMC members	2	14	348	696	6.44	2	14	0	0	0	0	252	117	0	0	252	117	369	738	6.44	
	Other	Training if any (Domest	tic)						П										0	0	0	0		
10		Exchange Visit for Experience Sharing	Officials	1	2	48	48	2.50	1	2	40	8	0	0	0	0	0	0	40	8	48	48	2.50	
11	ov vicit	Exchange Visit for Experience Sharing	Beneficiaries	1	8	192	192	5.28	1	8	0	0	0	0	160	32	160	32	320	64	384	384	5.28	
		Total HFMLIP			168	3475	3,897	44.82		168	86	12	39	39	2116	877	1353	717	3,594	1,645	5239	5658	44.48	
8.	Haor	Infrastructure	and Live	eli	hoc	od Im	pro	vem	en	t Pro	ojec	t (HII	LIP)						3,594					
1	Crop & Hort demo		CIG	1	84	2100	2100	16.80		84					1097	1003			1097	1003	2100	2100	16.80	
2		Poultry & Livestock Demo Farmers Training	CIG	1	84	2100	2100	16.80	1	84					756	1344			756	1344	2100	2100	16.80	
3	Fisheri es Demo	Fisheries Demo Farmers Training	CIG	1	35	875	875	7.00	1	35					525	350			525	350	875	875	7.00	
4	C & Hort Sec Dev	Others Training on Crop and Horticulture Sector Dev.	CIG/Others	1	100	2500	2500	20.00	1	100					1422	1078			1422	1078	2500	2500	20.00	
5	Fisheri es Sec Dev	Others Training on Fisheries Sector Dev.	CIG/Others	1	10	250	250	2.00	1	10					154	96			154	96	250	250	2.00	

						Rev. P	LAN								Δ	CHIEV	EMEN	Т						
			ø											Category	of Parti	cipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries FA,FMC, F, FSO, litator, F,BUG, s, TLCC, C etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	Innovative Employment	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
6	Inno Emplo y		Graduate LCS Members	3	14	140	420	3.62	3	6							10	50	10	50	60	180	1.65	
7	Para vet	Para vet Training	Selected Participants	14	6	180	2520	27.25	14	4					114	6			114	6	120	1680	18.17	
8	Forestr y Prod	Village Forestry Training on Bamboo Production	CIG/Others	1	140	2800	2800	25.76	1	140					1250	1550			1250	1550	2800	2800	25.76	
9	Murta Prod	Training on Murta Production	CIG/Others	1	40	800	800	7.36	1	40					385	415			385	415	800	800	7.36	
10	Hizol Prod	Training on Hizol/Korach Production	CIG/Others	1	56	1120	1120	10.30	1	56					495	625			495	625	1120	1120	10.30	
11	Vetiver Prod	Training on Vetiver Production	CIG/Others	1	28	560	560	5.15	1	28					265	295			265	295	560	560	5.15	
12	Fruit Prod	Training on Nursery/Medicinal Plant/Fruit Production	CIG/Others	1	56	1120	1120	10.30	1	56					504	616			504	616	1120	1120	10.30	
13	Pond Fish	Pond Fishery Training	HILIP Staff & Progressive Farmers	1	40	800	800	6.8	1	40					450	350			450	350	800	800	6.80	
14	Bambo o Produ	Advance Improved Training on Bamboo Products	LGED/HILIP Participants	7	19	380	2660	24.70	7	19					45	335			45	335	380	2660	24.70	
15	Jute Produ	Advance Improved Training on Jute Products	CIG	10	53	1060	10600	96.99	10	53					11	1048			11	1048	1059	10590	96.99	
16	Vocati onal	Vocational Training	Selected participants based on criteria	45	50	1000	45000	200.00	45	50					940	51			940	51	991	44595	200.00	
17	LCS Infra	LCS Training (Infrastructure)	Selected participants based on criteria	1	120	3000	3000	24.00	1	110							1925	825	1925	825	2750	2750	22.00	

						Rev. P	LAN									CHIEV	EMEN	_						
						Rev. P	LAN							Category			CIVICIN	<u> </u>						
SL No		Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED	L	GI	Bene (WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
	-	3	4	-	_	7	8	_	10	11	Male 12	Female 13	Male 14	Female 15	Male 16	Female 17	Male 18	Female 19	Male 20	Female 21	Total 22	23	24	25
18	1.00	LCS Training Khal/Beel Excavation	BUG Participants	1	6 40	1000	1000	8.00	1	40	12	13	14	15	705	295	18	19	705	295	1000	1000	8.00	25
19	Pool	Beel Management Training (BMC)	Selected	3	15	450	1350	8.55	3	13					273	117			273	117	390	1170	7.41	
20	Cap Dev KM	Staff Training & Capacity Building, Knowledge Management, Financial Management, Technical support Training & Others	Selected participants based on criteria	3	4	100	300	7.71	*3	4	31	4							31	4	35	129	2.53	
21	QC	Training on PPR/Quality Control	Staff/Coordin ators	5	4	117	585	16.00	5	4	117	0							117	0	117	585	15.98	
		Sub Total HILIP			998	22452	82460	545.09		976	148	4	0	0	9391	9,574	1935	875	11474	10453	21927	80364	525.69	
9.	Impr	ovement of Po	nds. Car	าล	ls a	cros	s the	e co	un	trv (IPC	P)												
1		Total Station Operation	AE, SAE						5	3	41	1							41	1	42	210	8.26	
2		Total Station Data Processing	AE, SAE						5	2	27	1							27	1	28	140	8.5	
		Total IPCP								5	68	2							68	2	70	350	16.76	
10). Mul	ltipurpose Disa	ster She	elte	er F	roje	ct (N	IDSI	P)															
1		Building & Road structure Maintenance		5	2	60	300	7.00		2	52	0							52	0	52	260	6.94	Com plete d
2		Specification of Works, Work Supervision	PD, DPD, XENs, Sr. AEs, UEs, AEs & SAEs	5	2	60	300	7.10	5	1	29	1							29	1	30	150	7.53	Com plete d

						Rev. P	LAN								-	CHIEV	EMEN	Т						
			φ											Categor	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		.GI	(WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female		Female		Female	Male	Female	Male	Female	Total			
3		Management Framework (EMF) Inclusive	PMU officials, XENs, Sr. AEs, UEs,	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	Com plete d
		Environmental Management Plan or Environmental Code of Practice (ECP)	AEs & SAEs	2	3	60	120	2.00	1	3	66	4							66	4	70	140	1.98	
		Total MDSP			7	180	720	16.10		6	147	5	0	0	0	0	0	0	147	5	152	550	16.45	
11.	Mur	nicipal Support	Unit (M	SI	J), I	Muni	cipa	I Go	ve	rnar	nce	& Se	rvic	es P	roje	ct (MC	SSP)							
		uterization of ULBs Rec		Π																				
1		Training on Holding Tax Software Installation and Opreartion	Tax collector, Asst. Tax Collector	5	10	200	1000	31.00	5	10			181	15					181	15	196	980	29.35	
2		Training on Municipal Accounting Software Installation and Opreartion	Accounts Officer/ Accountant, Account Assistant	5	10	200	1000	31.00	5	10			185	10					185	10	195	975	29.37	
3		Training on Trade License Software Installation and Opreartion	License Inspector, Asst. License Inspector	5	10	200	1000	31.00	5	9			163	11					163	11	174	870	26.41	
	Enhan	ced Urban Planning																						

						Rev. P	LAN								A	CHIEV	EMEN	Т						
			ιχ											Category	of Parti	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
-1	2	2	4	_	6	7	0	0	10	11	Male		Male	Female	Male	Female	Male	Female	Male	Female	Total	22	24	25
4	2 OSM	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
		Orientation on Master Plan Preparation, Implementation & relevant act.	Mayor, XEN/AE, Secretary, Town Planner/AE/S AE, Members of SC on Urban planning	1	10	320	320	13.00	1	9			182	53					182	53	235	235	8.68	
5		Training on Project Cycle Management for MGSP	Mayor/Secret ary, EE, AE,AME,SAE	2	5	130	260	15.34	1	1			38						38		38	38	2.13	
									2	4			159	2					159	2	161	322	13.21	
6		Training on Evironmental & Social Safeguard Policy and GRC	Mayor/Secret ary, EE, AE,AME,SAE	1	1	35	35	2.31	1	1			34	1					34	1	35	35	2.31	
7		Training on O&M Plan and Budget and Assets Inventories	Mayor/Secret ary, EE, AE,AME,SAE	1	1	40	40	2.50																
	Comm	unity Mobilization																						
8	SWS	Training Course on TLLC Formation and Operation	Mayor, Pannel Mayor(F), Pannel Mayor(M), Member Secretary of TLCC	2	16	512	1024	29.00	2	16			345	127					345	127	472	944	35.95	

						Rev. P	ΙΔΝ									CHIEV	EMEN	Т						
			10		i	101.1	LAN							Categor	y of Part			•						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED	L	GI	Bene (WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Participa		Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female		Female	Male	Female	Male	Female	Total			
1	2	TOT for Orientation to	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
9		Newly Elected Officials (Mayor)	All DDs, All ADs, Other Resourse Persons from LGED, NILG, etc.	1	1	22	22	1.00	1	1	17	3							17	3	20	20	0.77	
10		Orientation to Newly Elected Officials (Mayor)	Mayor	4	4	120	480	38.00	4	4			102	2					102	2	104	416	36.81	
11		TOT for Orientation to Newly Elected Officials (Councilors)	All DDs, ADs (CM) & Other Resourse Persons from LGED, etc.	3	1	22	66	1.00	3	1	17								17	0	17	51	44.41	
12		Orientation to Newly Elected Officials (Councilors) including standing committee operation	All Councilors	3	12	596	1788	49.50	3	11			344	82					344	82	426	1,278		
	Additio	nal Training							П															
13		Quality Control of concrete Works for Paura Personnel (QCT-1 & QCT- 2)	SAE (Category A) and AE & SAE (Category B & C)	5	1	25	125	3.63	5	1			25						25		25	125	3.63	
	Munic	ipal Financial Managem	nent																					
14		TOT on Holding Tax Assessment & Collection	DDs & ADs (MF)	1	1	22	22	1.70	1	1	13								13	0	13	13	1.24	

						Rev. P	LAN									CHIEV	EMEN	Т						
			(n						T					Category				-						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	pants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male			Female	Male	Female	Male	Female	Male	Female	Total			
15	2	3 Tax Assessment	4 Secretary, Assessor & Assistant	2	2	64	128	3.85	2	11	12	13	30	15 2	16	17	18	19	30	21	32	23 64	1.7	25
			Assessor (2)																					
16		Tax Collection	Secretary, Collector & Assistant Collector (2)	2	2	64	128	3.88	2	1			29	1					29	1	30	60	1.63	
	M&E S	system of MGSP							П															
17	*	Orientation/Refresher Workshop on Project Implementation	XEN,AE ,AME & SME	1	2	64	64																	
18		M&E System of MGSP	AE ,AME &SME	2	2	60	120																	
19		M&E System of MGSP	XEN	1	1	20	20																	
20		Training on Contract Management & Quality Control of Works	PIU Contractors under MGSP	1	1	52	52	3.50	1	2							51		51		51	51	3.59	
	Inclusi	ive Budget & Asset Reg	<u>jister</u>																					
21		Training on Inclusive Budget and Asset Register	Representati ve of CC/PS, Accounts & Tax section, Member of TLCC & WC, Elite persons & Professional	1	78	2711	2711	49.14	1	78			2299	412					2299	412	2711	2711	49.14	
		Total MSU-MGSP			171	5479	10405	310.35		161	47	3	4116	718	0	0	51	0	4214	721	4935	9188	290.33	

						Rev. P	LAN									ACHIEV	EMEN	Т						
			σ											Categor	y of Part	ticipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	.GI	(WMC MMC Fac CDC Farme	eficiaries CA,FMC, C, FSO, cilitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tol	al Particip	pants	Total Trainee days	Actual Exp. (LT)	Remarks
												Female		Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3		5		7	8		10		12	13	14	15	16	17	18	19	20	21	22	23	24	25
12 .	Nor	thern Banglade	esh Inte	gra	ated	d Dev	/elo	pme	nt	Pro	ject	(NO	BIDI	EP)										
Com	onent-1	_																						
1		Training on e-GP/ Procurement.	LGED and Pourashava staff	4	1	17	68	2.99	4	1			7				10		17	0	17	68	2.61	Compl eted
2		Training on improving masonry skills and construction techniques (include on HIV/AIDS)	Construction workers	2	3	90	180	6.08	2	3							85		85	0	85	170	6.03	Compl eted
3	C&S	Training on saving and credit management	LCS members	1	31	736	736	22.4		31	31							660	31	660	691	691	21.75	Compl eted
4	IGA	Training on Sewing (Training on skills development for income generation.)	LCS members	15	6	110	1650	32.56	15	6						110			0	110	110	1650	32.54	Compl eted
5	IGA	Training on Beef Fattening and Cow rearing. (Training on skills development for income generation.)		10	7	106	1060	17.07	10	7						106			0	106	106	1060	16.95	Compl eted
		Component-1, Sub- Total:			48	1059	3694	81.1		48	31	0	7	0	0	216	95	660	133	876	1009	3639	79.88	
Com	onent-2																							
6		Training on UGIAP Phase- III	·	1	1	18	18	0.629	1	1			18						18	0	18	18	0.63	Compl eted by other source
7		Training on UGIAP Phase- III		1	4	216	216	6.52	1	4			155	50					155	50	205	205	6.15	Compl eted
8	e-Gov	Training on Good Governance & its application in Pourashavas	Mayors and Secretary	1	1	36	36	1.95	1	1			34	1					34	1	35	35	1.87	Compl eted

						Rev. P	LAN								-	CHIEV	EMEN	Т						
			φ.											Categor	y of Part			-						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Fac CDC Farme	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	tal Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3		5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
9		Training on Annual Review of PDP	Planner(AE) & Facilitator(UP)	2	1	36	72	2.85	2	1			28	1					28	1	29	58	2.33	Compl eted
10	GAP	Training on GAP Implementation	Gender Committee members	1	2	108	108	3.2	1	2			61	41					61	41	102	102	2.97	Compl eted
11		Training on Quality Control, Supervision and Road safety	AE, SAE and Work Assistant	2	2	54	108	4.54	2	2			50						50	0	50	100	4.15	Compl eted
12		Training on implementation of infrastructure work	AE, SAE and Work Assistant	2	2	54	108	4.5	2	4			75	8					75	8	83	166	5.50	Compl eted
13		Training on Operation and Maintenance of infrastructure and facilities	AE, SAE and Secretary	1	1	36	36	1.9	1	1			27	1					27	1	28	28	0.97	Compl eted
14	SM- Inviron ment	Training on Environmental Sanitary Management.	Assistant Engineer and Secretary	2	1	36	72	3.5	1	1			31	1					31	1	32	32	1.96	Compl eted
15		Workshop on Progress Review of Pourashava Infrastructure Works and UGIAP Phase-III activities.	Mayor, Assistant Engineer, Secretary, Concerned Contructor and Others Officials	1	2	160	160	4	1	2			160						160	0	160	160	2.05	Compl eted
		Component-2.2, Sub- Total:			17	754	934	33.59		19	0	0	639	103	0	0	0	0	639	103	742	904	28.60	
		Total NOBIDEP:			65	1813	4628	114.7		67	31	0	646	103	0	216	95	660	772	979	1751	4543	108.47	

						Rev. P	LAN								-	CHIEV	EMEN	Т						
			ις											Category	of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	pants	Total Trainee days	Actual Exp. (LT)	Remarks
												Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3		5		7	8		10		12	13	14	15	16	17	18	19	20	21	22	23	24	25
13		d Primary Educ	cation D	ev	<u>'elo</u>	pmei	nt Pi	rogra	am	ıme	(PE	DP-3	5)											
1	OJT (Paint)	On Job Training (Painting)	WA,Painter (Private)	1	64	1960	1960	22.08	1	64	1954	6							1954	6	1960	1960	22.08	
2	EE (Pilot)	Training on Electrical Work (Pilot)	Electrician (Private)	1	2	46	46	0.54	1	2	46								46		46	46	0.54	
		Total PEDP-3			66	2006	2006	22.6		66	2000	6							2000	6	2006	2006	22.62	
14	. Par	ticipatory Smal	I Scale \	Wa	ater	Res	our	ces S	Se	ctor	Pro	ject	(PS	SWR	SP)									
	A. Pro	ject Orientation Manage	ement & WM0	CA	Estab	olishme	nt Man	ageme	nt 1	Frainin	g Cou	rses												
1	PSSW- 47	Upazila Role in WRM	UP Chairman, Members & Secretary.	3	1	14	42	0.93	3	1	0	0	10	4	0	0	0	0	10	4	14	42	0.93	
2	PSSW- 52	Quarterly Institutional Review of Subprojects	SE, XEN, UE/AUE, AWRE,SoE, CO, CA, Facilitators & WMCA Members,	1	58	3733	4203	120.8	1	58	1173	197	0	0	1794	569	0	0	2967	766	3733	4203	120.75	
3	PSSW- 105	Poverty Reduction Plan Preparation	WMCA Mngt. Committee	4	10	419	1676	31.96	4	10	25	5	52	13	206	78	25	15	308	111	419	1676	31.96	
4	PSSW-	Exchange Visits & Attachments	CA, CO, WMCA Com.	1	5	435	435	8.59	1	2	0	0	0	0	28	16	0	0	28	16	44	44	3.94	
		A. Subtotal			74	4601	6356	162.2		71	1198	202	62	17	2028	663	25	15	3313	897	4210	5965	157.58	
	В. Ор	eration and Maintenanc	e Training C	our	ses																			
6	PSSW- 113	Operation & Maintenance Fund Generation	Socio- Economist & Sr. Sociologist	1	6	200	200	14	1	5	180	4	0	0	0	0	0	0	180	4	184	184	8.16	

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 24 25 25 25 25 25 25							Rev. P	LAN								-	CHIEV	EMEN	Т						
1 2 3 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 22 22 23 22 23 24 25 25 25 25 25 25 25				S											Category	of Part	icipants								
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 7 PSSW Members WMCA Members Mem	SL No.	Code	Course Title	Category of Participant	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	.GI	(WMC MMC Fac CDC Farme	CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	tor, maint.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
PSSW- PSSW- PSSW- Micro credit Management PSSW- PS																									
8 PSSW- 117 Members Com. Mem. B. Sub-total: 3 52 1396 2592 73.96 51 472 14 0 0 745 149 0 0 1217 163 1380 2576 68. C. WMCA Establishment & Management Training Courses WMCA Chairman, Sec. & mem. Of Credit Sub-Com. PSSW- 125 Management of WMCA Accountants of WMCA 2 12 283 566 13.73 2 12 0 0 0 0 209 74 0 0 0 209 74 283 566 13.11 PSSW- Basic Cooperative Mgt Epilow up) B. Sub-total: 0 0 1217 163 1380 2576 68.		PSSW-	O&M Training for WMCA Members	WMCA EC and O & M Sub-Com. Mem.																				59.96	25
C. WMCA Establishment & Management Training Courses	8																								
9 PSSW-125 Micro credit Management WMCA Chairman, Sec. &mem. Of Credit Sub-Com. 1 20 500 500 12.05 1 16 1 0 34 0 287 161 0 0 322 161 483 483 12.0			B. Sub-total :		3	52	1396	2592	73.96	П	51	472	14	0	0	745	149	0	0	1217	163	1380	2576	68.12	
9 PSSW-125 Chairman, Sec. &mem. Of Credit Sub-Com. 10 PSSW-130 Accounts Sec. &mem. Of Credit Sub-Com. Sec. &mem. Of Cre		C. W	MCA Establishment & N	lanagement	Trai	ining	Course	s																	
10 PSW Accounts of WMCA 2 12 283 566 13.73 2 12 0 0 0 0 209 74 0 0 209 74 283 566 13. PSW Basic Cooperative Mgt Elected MC Elected MC Mem 2 6 155 310 7.91 2 6 0 0 8 0 99 48 0 0 107 48 155 310 7.91	9	PSSW-	Micro credit Management	Chairman, Sec. &mem. Of Credit Sub-	1	20	500	500	12.05	1	16	1	0	34	0	287	161	0	0	322	161	483	483	12.05	
11 PSSW-(Followup) Mem 2 6 155 310 791 2 6 0 0 8 0 99 48 0 0 107 48 155 310 79	10	P55W-			2	12	283	566	13.73	2	12	0	0	0	0	209	74	0	0	209	74	283	566	13.73	
	11	PSSW-			2	6	155	310	7.91	2	6	0	0	8	0	99	48	0	0	107	48	155	310	7.91	
131 WMCA	12		Program	Members of WMCA	1	2	270	270	0.71	1	2	0	0	0	0	190	80	0	0	190	80	270	270	0.71	
1/2	13		Cooperative Management	Members	2	4	100	200	4.85	2	4	0	0	0	0	56	40	0	0	56	40	96	192	4.85	
14 PSSW- Drafting Orientation for By-Law Members 1 4 114 114 2.83 1 4 0 0 0 79 35 0 0 79 35 114 114 2.83	14		SSW- Cooperative Management Members SSW- Orientation for By-Law Members Drafting WMCA Members			4	114	114	2.83	1	4	0	0	0	0	79	35	0	0	79	35	114	114	2.83	
C. Subtotal 48 1422 1960 42.08 44 1 0 42 0 920 438 0 0 963 438 1401 1935 42.19 CONTRACTOR OF CONTRAC			C. Subtotal			48	1422	1960	42.08		44	1	0	42	0	920	438	0	0	963	438	1401	1935	42.08	
D. Agriculture Training Courses		D. Ag	riculture Training Cours	ses																					

						Rev. P	LAN								- 1	CHIEV	EMEN	Т						
			ıts											Category	of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		SED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, iilitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, etor, maint. ew etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3 Demand Led Training	4 Selected	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
15	PSSW- 145	(Farm Water Management, Seed Production & Processing, Value Chain Management)	WMCA Mem.	3	25	723	2250	41	3	25	40	0	40	0	330	313	0	0	410	313	723	2250	41	
16	PSSW- 146	IGM Farmer Field Day	Selected WMCA Mem.	20	1	25	500	1.14	20	1	0	0	0	0	15	10			15	10	25	500	1.14	
17	147	Women on farm IGAs(duck, poultry, cattle rearing & vegetable cultivation)	Selected WMCA Mem.	2	18	515	1030	23.64	2	18	19	0	18	0	263	215	0	0	300	215	515	1030	22.93	
18		Agriculture Resources Management	Selected WMCA Mem.	2	1	40	80	1.26	2	1	0	0	0	0	5	35	0	0	5	35	40	80	1.26	
19	PSSW- 153	Mapping: Land and water use	WMCA MC, Ag. Sub- Com, G. member	1	194	4854	4854	38.8	1	194	0	0	0	0	3302	1552	0	0	3302	1552	4854	4854	38.8	
		D. Subtotal			239	6157	8714	105.8		239	59	0	58	0	3915	2125	0	0	4032	2125	6157	8714	105.13	
	E. Fis	heries Training Courses	<u>s</u>																					
20	PSS W-87	Fisheries Program mgt Training (Natural and Culture)	CO, Fish Faci. AFO/FA, WMCA Mem. Fish Sub- Com.leaders	2	12	288	576	19.81	2	12	0	0	0	0	192	96	0	0	192	96	288	576	19.81	
21	PSS W- 158	Training on fish culture technique	WMCA Members.	3	22	546	1638	36.77	3	22	0	0	0	0	374	172	0	0	374	172	546	1638	36.77	
		E Subtotal			34	834	2214	56.58	Щ	34	0	0	0	0	566	268	0	0	566	268	834	2214	56.58	
	F. En	vironment Training C	<u>ourses</u>																					

						Rev. P	LAN								- /	CHIEV	EMEN	Т						
			ιχ											Category	of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
22		Implementation & Monitoring of Environmental Mitigation measures	XEN,UE,AE, SoE,CO, CA, WMCA mem.	1	12	360	360	6.47	1	12	2	0	0	0	268	90	0	0	270	90	360	360	6.47	
23	PSS W- 167	Orientation on Environmental Awareness and Local Resources Management	WMCA Mem.& general beneficiaries including women	1	46	1340	1320	14.63	1	46	0	0	0	0	670	670	0	0	670	670	1340	1320	14.63	
24	PSS W-93	Environmental Laboratory and Water Quality Testing	Selected LGED Lab.Tech. Lab. Asstt., Agri/Fish Faci.	1	3	66	66	2.2	1	3	65	1	0	0	0	0	0	0	65	1	66	66	2.2	
		F. Subtotal			61	1766	1746	23.3	П	61	67	1	0	0	938	760	0	0	1005	761	1766	1746	23.3	
	G. Ge	nder and Development	Training Cou	ırse	s				П															
25	PSS W- 163	Gender Awareness Training	Male & Female members of selected WMCA	1	46	980	920	15.56	1	46	0	0	0	0	490	490	0	0	490	490	980	980	15.56	
26	PSS W- 165	IGA for Livelihood Development	Female members of WMCA	2	22	690	1380	19.01	2	22	0	0	0	0	0	690	0	0	0	690	690	1380	19.01	
27	PSS W- 166	Role of Women in WMCA Decision Making	Male &Female members of WMCA	1	94	1910	1910	31.52	1	94	0	0	0	0	0	1910	0	0	0	1910	1910	1910	31.52	
		G Subtotal			162	3580	4210	66.09		162	0	0	0	0	490	3090	0	0	490	3090	3580	4270	66.09	
									Ш															ш
	H Res	settlement Training Cou	rses						Ш															

						Rev. P	LAN									CHIEV	EMEN	Т						
														Category										
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, ilitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
				_							Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	Resettlement Planning &	Sr.AE.	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
28	PSS W-49	Implementation	UE,UAE,SAE ,SoE	2	11	329	658	16.93	2	11	304	25	0	0	0	0	0	0	304	25	329	658	16.92	
		H Subtotal			9	329	658	16.93		11	304	25	0	0	0	0	0	0	304	25	329	658	16.92	
		Total PSSWRSP			679	20085	28450	547.01	0	673	2101	242	162	17	9602	7493	25	15	11890	7767	19657	28078	535.80	
15 .	Rur	al Access Road	d Improv	/e	mei	nt Pr	ojec	t in S	Sy	lhet	Div	ision	(RA	ARIP)									
1		Orientation project management as per IDB procurement guide lines & quality control.	XEN,Sr.AE,A E,UE,UAE & SAE	2	2	50	100	3.00	3	1	30	1							30	1	31	93	4.00	Start up Works hop
		Note: As per Revised ADP	No allocation ac	gain																				
		Total RARIP			2	50		3.00			30	1	0	0	0	0	0	0	30	1	31	93	4.00	
16.	Rur	al Employment	and Ro	ac	M k	ainte	nan	ce P	ro	gran	nme	2-2 (F	RER	MP-2	2)									
1	IGA	IGA Training on: a) Cow rearing b) Goat rearing c) Poultry rearing d) Vegetables cultivitions & others.	RERMP-2 Woman crew	1	766	30640	30640	204	1	766								30640		30640	30640	30640	204.00	
		Total RERMP-2			766	30640	30640	204.00	П	766	0	0	0	0	0	0	0	30640	0	30640	30640	30640	204.00	
17 .	Sec	ond Rural Tran	sport In	np	rov	eme	nt P	roje	ct ((RTI	P-2))												
		Social & Environmenta	l Safeguard																					
1		Training on Safeguards Issues (Social & Environmental)	Sociologist & Community Organizer	2	4	280	560	20.08	2	4	272	8							272	8	280	560	20.08	
2		Training on Socio- Economic Monitoring & Evaluation	Sociologist	4	1	27	108	3.15	4	1	20	7							20	7	27	108	4.15	
		Technical / Engineering	9																					

						Rev. P	LAN								A	CHIEV	EMEN	Т						
			ş											Category	y of Parti	icipants								
SL No	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LO	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, ilitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	ants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1		3	4	5	6	7	8		10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
3		Basic Training on Rural Road Safety	PDs, DPDs, XENs, Sr. AEs, UEs, AEs, SAEs & Consultants/ Contractors	3	9	675	2025	79.68		9	638	25							638	25	663	1989	79.68	
4		Training Course on Road Structure Maintenance	Executive Engineer, Sr. Assistant Engineer, Upazila Engineer & Assistant Engineer	5	2	77	385	24.92	5	2	75	2							75	2	77	385	24.92	
		Computer Based Train	ing /ICT																					
5		Training on Information & Communication Technology (ICT) and Its Application	Upazila Engineer, Upazila Assistant Engineer, Assistant Engineer & Sub- Assistant Engineer, Accountant, UDA & Steno- Typist	4	5	100	400	17.00	4	5	93	7							93	7	100	400	16.57	
		PPR / e-GP etc.:																						

						Rev. P	LAN								- /	CHIEV	EMEN	Т						
			ø											Category										
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	pants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
6	2	3 Training on Procurement	4 Upazila	5	6 10	7 200	8 800	35.00	10	11 9	12 175	13 5	14	15	16	17	18	19	20 175	21 5	22 180	23 720	24 34.02	25
6		Training of Proceedings of Works through e-GP (Tender and Contract Management)	Engineer, Upazila Assistant Engineer, Assistant Engineer & Sub- Assistant Engineer	4	10	200	800	35.00	4	9	175	5							1/3	5	100	720	34.02	
		Other Training																						
7		Workshop on Project Implementation & Progress Review	PDs, DPDs, XENs, Sr. AEs, UEs, AEs, SAEs & Consultants	1	1	900	900	5.15	1	1	880	45							880	45	925	925	5.15	
		Total RTIP-2			32	2259	5178	184.98		31	2153	99	0	0	0	0	0	0	2153	99	2252	5087	184.57	
18.	Sus	tainable Small	Scale W	/at	ter	Reso	urce	es D	ev	elop	me	nt Pr	ojec	et (SS	SSW	RDP)								
		stration & Management :																						
1		Orientation training/workshop on the Project Activities (Engineering, Institutional and Socio-economic) WMCA Establishment, FMC Formation.	AES (Water), Sociologist, SAE, DOC, DAE, DOF, DLS, SRDI		4	211	211	11.58		4	20		85	7			88	11	193	18	211	211	11.58	
2		Foundation Training on SSWRDP	Sociologists and AEs (Water)	2	6	169	338	20.00	2	6							150	19	150	19	169	338	20	

						Rev. P	LAN								<u> </u>	CHIEV	EMEN	T						
			(n		İ									Category				-						
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, litator, C,BUG, s, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip	pants	Total Trainee days	Actual Exp. (LT)	Remarks
												Female		Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3		5	6	7	8		10		12	13	14	15	16	17	18	19	20	21	22	23	24	25
3		Identification	SAE, CO, UP Chairmen, members and Secretaries	1	2	70	70	4.56	1	2							65	5	65	5	70	70	4.56	
4		Training on Project Activites	WMCA- Chairmen, Secretaries and members	1	13	478	478	34.25	1	8					407	7	43	11	450	18	468	468	34.00	
5		TOT:Training LCSs on Earthwork Methods	Sr.AE/AE at district level, Selected SAE,Sociolog ist,CO	1	3	74	74	3.65	1	2	53	3					16	2	69	5	74	74	3.65	
6		Training on WMCA Management	FMC & CO	2	4	144	288	10.00																
	Other T	raining if any (domestic):																						
7		Quality Seed Production, P	rocessing and I	3	3	120	360	7.50	П															
8		Agri Product Marketing		3	2	60	180	5.00	П															
9		Livestock, poultry & Duck Farming, Fish cultivation and Homestead Gardening	Male and		3	90	270	7.50																
		Field Level Income G	enerating																					
10		Livestock, poultry & Duck Farming, Fish cultivation and Homestead Gardening	Male and		5	100	200	4.50	2	34	0	0	0	0	480	480	0	0	480	480	960	1920	35.31	

						Rev. P	LAN								A	CHIEV	EMEN	Т						
			ω											Category	of Parti	icipants								1
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	GI	(WMC MMC Faci CDC Farmer	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	Tot	al Particip	pants	Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3		5	6	7	8		10		12	13	14	15	16	17	18	19	20	21	22	23	24	25
11		Tailoring/Embrodary	Selected Woman members of WMCA	25	6	120	3000	6.00	25	7						135				135	135	3375	20.67	
		Total SSWRSP			51	1636	5469	114.54		63	73	3	85	7	887	622	362	48	1407	680	2087	6456	129.76	
19.	Thir	d Urban Gover	rnance 8	k l	nfra	stru	ctur	e Im	pr	ovei	men	t (Se	cto	r) Pro	oject	, UGI	P-III							
		nd PRAP Component							П															
1		Contractors'/Tenderers' Training (Gender concept)	Contractors/T enderer, Contractor's Supervisor, XEN, AE, SAE, ME	1	8	120	60	3.81	1	8			59	0	0	0	121	0	180	0	180	90	4.02	Done
2		TOT on GAP preparation & implementation	Chairperson + Member Secretary (WCA), LCDA	3	1	30	90	2.50																
3		TOT on CAP Preparation	SDO, XEN, Member Secre of Standing Committee	1	9	240	240	13.10	1	9			153	31			108	14	261	45	306	306	13.10	Done
4		GAP Preparation	Mayor, Councilor, Secre, CEO, SDO, Consultants	2	2	55	110	4.69	2	2			15	24			9	3	24	27	51	102	4.69	Done
5		GAP Implementation	Mayor, Councilor, Secre, CEO, SDO, Consultants	1	2	55	55	2.34	1	1			15	24			9	3	24	27	51	51	2.34	Done

						Rev. P	LAN								- 1	CHIEV	EMEN	Т						
			Ω											Category	of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		.GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
_	0	2	4	_	•	7	0	0	40	44	Male	Female	Male 14	Female	Male	Female 17	Male	Female	Male 20	Female	Total	00	0.4	05
1	2	3	Standing	5	6	/	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
6		PRAP Preparation	Committee of WCA	1	2	50	110	2.65	1	2			22	11	3	5	10	2	35	18	53	53	2.65	Done
7		PRAP Implementation	Standing Committee of DRSI	1	2	50	110	2.65	1	2			22	11	3	5	10	2	35	18	53	53	2.65	Done
8		Slum Improvement Activities Implementation	SIC Beneficiaries	1	2	50	50	2.91	1	2			24	12	3	4	5	2	32	18	50	50	2.91	Done
9		Formation & Management of SIC, CAP Preparation & Implementation	SIC beneficiaries	1	27	575	575	17.40	1	27			275	60	88	769	73	25	436	854	1290	1290	20.97	Done
10		On-The -Job Training (GAD, PRAP)	Pourashava Concerned staff	1	124	620	620	57.0	1	124			248	372					248	372	620	620	57.00	Done
		Sub Total GAP and PRAP			179	1845	2020	109.05		177	0	0	833	545	97	783	345	51	1275	1379	2654	2615	110.33	
	GICD	Component																						
11		Acts and Rules for Pourashavas	Mayor, Councilors, Officers and staff of Pourashava	2	9	310	620	20.71	2	9			247	29					247	29	276	552	20.71	Done
12		Formation, Functions & Responsibilities of TLCC	TLCC members	1	32	620	620	8.80	1	32	6	0	25	11	12	20	341	192	384	223	607	607	8.73	Done
13		Formation, Functions & Responsibilities of WC	WC members	1	15	450	450	9.80	1	15			86	24	94	59	182	133	362	216	578	578	9.80	Done
14		Urban Planning for Planned Urbanization	Mayor, Councilors, Officers and Staff of Pourashava	2	3	90	180	5.40	2	3			73	8					73	8	81	162	6.08	Done
15		Resource Mobilization (Holding Tax, Indirect tax and fees etc	Concerned Pourashava staff	2	5	150	300	4.00	2	5			106	24					106	24	130	260	4.66	Done

						Rev. P	LAN								- /	CHIEV	EMEN	Т						
			Ω											Category										
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Faci CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, cs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
1	2	3	4	5	6	7	8	0	10	11	Male 12	Female 13	Male 14	Female 15	Male 16	Female 17	Male 18	Female 19	Male 20	Female 21	Total 22	23	24	25
16		On the Job training (software, water billing, etc)	Pourashava staff	1	31	248	248	5.35		31	12	13	221	23	16	17	10	19	221	23	244	244	5.34	Done
		Sub Total GICD			95	1868	2418	54.06		95	6	0	758	119	106	79	523	325	1393	523	1916	2403	55.32	
	MDS C	Component																						
17		Contract Administration	Mayors, XENs	1	1	22	22	1.50	1	1			19	0					19	0	19	19	0.99	Done
18		Works Contract Management of Civill Works	EE, AE, ME	3	3	93	279	11.85	3	3			55	0			30	0	85	0	85	255	11.85	Done
19		Refresher course on Electronic Government Procurement (E-GP)	EE, AE, SAE, ME	4	2	64	256	6.54	4	2			25	0			10	0	35	0	35	140	6.54	Done
20		Technical Training on Implementation of Water Supply Sub project	AE(WS)of PIU and AE/SAE, DPHE	2	3	40	80	6.89	2	2			22	0			33	0	55	0	55	110	6.89	Done
21		Understanding of Design, Preparation of estimate, Construction and Quality Control of Saniraty Landfill	EE, AE, SAE, ME	1	3	31	31	3.96	1	3			52	0			22	0	74	0	74	74	3.96	Done
22		Road Maintenance incl. Mobile Maintenance (Refresher)	AE, SAE	2	2	62	124	6.12	2	2			42	0					42	0	42	84	6.12	Done

						Rev. P	LAN								-	CHIEV	EMEN	Т						
			ø											Categor	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch		GED		GI	(WMC MMC Fac CDC Farmer WLC	ficiaries CA,FMC, C, FSO, illitator, C,BUG, rs, TLCC, CC etc.)	contrac Cre	like LCS, tor, maint. w etc.		al Particip		Total Trainee days	Actual Exp. (LT)	Remarks
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female	Total			
1	2	3	4 Contractors/T	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
23			enderer, XEN, AE, SAE & ME	1	8	210	105	3.81	1	8			59	0	0	0	121	0	180	0	180	90	4.02	Done
23		Safeguard Implementation and monitoring (jointly organized by ADB and UGIIP-III)	Contractors, Safeguard Officers (XEN / AE), AE (Water Supply), PMO officers, Consultants, MDS, GICD	1	1	111	111	4.19	1	1	13	0	41	0			57	0	111	0	111	111	4.19	Done
24		Solid Waste and Fecal sludge Management	ACEs, SEs, Urban PDs, NGO, Pourashava Representati ves, Poject consultants						1	1	30	5	2	0			15	1	47	6	53	53	2.15	un- plann ed
		Sub Total MDS			23	633	1008	44.86		23	43	5	317	0	0	0	288	1	648	6	654	936	46.71	
	PME C	onsultant																						
25		Pourashava Budget Preparation and Maintanance of Accounts	Members of SC, XEN, Secretary, Accounts officer, Accountant & Cashier	1	1	22	22	2.40	1	1			20	1			4	2	24	3	27	27	1.42	Done
26		Pourashava Financial Management and Conducting Audit	XEN/AE, Secretary, Accounts officer, Accountant	1	1	20	20	1.00	1	1			20	1			4	2	24	3	27	27	1.42	Done

						Rev. P	LAN								F	CHIEV	EMEN	Т						
			ste											Categor	y of Part	icipants								
SL No.	Code	Course Title	Category of Participants	Duration (Days)	No. of Batch	Total Participants	Total Trainee days	Budget	Duration (Days)	No. of Batch	LC	GED	L	.GI	(WMC MMC Fac CDC Farmer	ficiaries CA,FMC, C, FSO, iilitator, C,BUG, rs, TLCC, CC etc.)	contrac	like LCS, tor, maint. w etc.	It.		Trainee	Actual Exp. (LT)	Remarks	
											Male	Female	Male	Female	Male	Female	Male	Female	Male	Female				
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
26		Project Financial Management & Auditing (Window B)	XEN, Secretary, Accounts officer & Accountant	1	2	80	80	4.00																postp oned
27		Progress Review Workshop, Window A	Mayors	2	1	36	72	16.50	2	1			34	0					34	0	34	68	16.47	Done
		Sub Total PME Consultant			5	158	194	23.90		3	0	0	74	2	0	0	8	4	82	6	88	122	19.31	
		Total of UGIIP-III			302	4504	5640	231.87		298	49	5	1982	666	203	862	1164	381	3398	1914	5312	6076	231.67	
																		·			·	· ·		
		Total Training under Re	·V.		166	3984	10018	260		164	3687	218	0	0	0	0	0	0	3687	218	3905	9997	259.54	
		Total Training under De	v.		3543	103570	281005	2875		4278	7542	464	8773	1948	28492	22183	6360	45304	51167	69899	121066	359588	2793.16	
		Grand Total Training Re	ev. + Dev.		3709	107554	291023	3135		4442	11229	682	8773	1948	28492	22183	6360	45304	54854	70117	124971	369585	3052.70	

Training Photo Gallery



Mr. Md. Abul Kalam Azad, Chief Engineer, LGED is seen addressing newly recruited AE/UAE in the Orientation Session on LGED Activities.



Mr. Md. Abul Kalam Azad, Chief Engineer, LGED is addressing the participants of the Project Management Course. Mr. P.K. Chowdhury, Addl. Chief Engineer (Training) and others are also seen.



Mr. P.K. Chowdhury, Addl. Chief Engineer (IWRM and Training) addressing the participants. Mr. A.K.M. Luthfur Rahman, Superintending Engineer (Training) and others are also seen.



Mr. Md. Abul Kalam Azad, Chief Engineer, LGED and Prof. Dr. Habibur Rahman, BUET are exchanging views with the participants of workshop on Soil Waste and Fecal Sludge Management in LGED HQ, Dhaka.



The Executive Engineer, Faridpur SE Office and Resource persons are seen in the opening session of the training course on Total Station (Field Operation) held at the Regional Training Centre (RTC) at Faridpur.



Senior Engineers of LGED are attending the training course titled 'Managerial Leadership , Ownership and Integrity' at BPATC, Savar, Dhaka

Training Photo Gallery



Chief Engineer, LGED is addressing the participants of the training course on Specification of Works & Works Supervision. Addl. CE (Training) and SE (Training) among others are seen in the dias.



The Participants of the training course on Safeguard Issues organized by RTIP-2 at RDEC Building Dhaka.



The XEN (Quality Control) is conducting the 'On the Job training on WMM Road Works' organized at the Patuakhali RTC. SE (Region) is seen in the dias.



Mr. A.K.M. Luthfur Rahman, Superintending Engineer (Training) is exchanging views with the participants of the e-filling course



Participants of the Basic Computer course at RTC Faridpur are seen practicing their assignment.



The XEN, Patuakhali is addressing the participants of the 'On the Job training on Electrical Works' at Patuakhali RTC. SE (Region) is seen.

Few Photographs of LGED Constructed Infrastructures



Mouchak intersection of the Maghbazar – Malibagh Flyover, Dhaka



Completed Bituminous Road in Savar, Dhaka



Dhamsona Union Parishad Complex



Regulator



Rubber Dam



Road Maintenance Work

Abbreviation & Acronym

Acct.	Accountant	DRM	Disaster Risk Management	SCDM	Steering Committee for Disaster
ADB	Asian Development Bank	DWA	Department of Woman Affairs		Management
AE	Assistant Engineer	FA	Field Assistant	SDO	Slum Development Officer
AFO	Assistant Fishery Officer	FO	Fishery Officer	SI	Sanitary Inspector
ATI	Agriculture Training Institute	FRI	Fisheries Research Institute	SIC	Slum Improvement Committee/Scheme
AWRE	Assistant Water Resources Engineer	FSM	Fish Seed Mortification Farm		Implementation Committee
BAPARD	Bangabandhu Academy for Poverty	FSO	Female Shop Owner	SMS	Subject Matter Specialist
	Alleviation and Rural Development	GAP	Gender Action Plan	SO	Social Organizer
BARD	Bangladesh Academy for Rural	GICD	Governance Improvement &	SoE	Socio Economist
	Development		Capacity Development	SP	Sub Project
BCA	Bangladesh Cooperative Academy	GMC	Growth Center Management	Sr. AE	Senior Ássistant Engineer
BFRI	Bangladesh Forest Research Institute		Committee	SSC	Scheme Supervision Committee
BMC	Beel Management Committee	IFAD	International Fund for Agriculture	SSG	Social Safeguard
BRTA	Bangladesh Road Transport Authority		Development	SSWR	Small Scale Water Resources
BUG	Beel User Group	IGA	Income Generating Activities	TC	Training Coordinator
CA	Community Assistant	IMC	Infrastructure Monitoring Committee	TLCC	Town Level Coordination Committee
CAP	Community Action Plan	IMFS	Integrated Financial Management	UAE	Upazila Assistant Engineer
CBFM	Community Based Fisheries		Software	UCO	Upazila Cooperative Officer
	Management	JICA	Japan International Cooperation	UDA	Upper Divisional Assistant
CC	City Corporation		Agency	UGAIP	Urban Governance Improvement Action Plan
CDC	Community Development Committee	LCS	Labor Contracting Society		·
CDF	Community Development Facilitator	LEA	Law Enforcing Agency	UHO	Upazila Health Officer
CFW	Community Field Worker	LT	Laboratory Technician	UISE	Upazila Infrastructure Supervision Engineer
CICE	Community Infrastructure Coordination	M&EO	Monitoring & Evaluation Officer		
	Expert	M+F	Male + Female	UNO	Upazila Nirbahi Officer
CIG	Common Interest Group	MMC	Market Management Committee	UP	Union Parishad
CO	Community Organizer	MO	Medical Officer/Monitoring Officer	UPz	Upazila Parishad
CRMCE	Community Resource Management	MV	Motorized Vehicle	VAA	Vulnerability & Adaptation Assessment
	Coordination Expert	NMV	Non-Motorized Vehicle	WA	Work Assistant
CZI	Cooperative Zonal Institute	OA	Office Assistant	WAO	Woman Affairs Officer
DAE	Department of Agriculture Extension	PC	Project Coordinator	WB	World Bank
DLS	Department of Livestock	PD	Project Director	WC	Ward Committee
DMC	Disaster Management Committee	PIU	Project Implementation Unit	WLCC	Ward Level Coordination Committee
DMP	Disaster Management & Preparedness	PMU	Project Management Unit	WMCA	Water Management Cooperative Association
DOC	Development of Cooperative	PRAP	Poverty Reduction Action Plan		
DO	Development of Fisheries	PWSS	Pourashava Water Supply &	WMCAEC	Executive Committee for WMCA
DPD	Deputy Project Director		Sanitation	WMCAMC	Management Committee for WMCA
		RDA	Rural Development Academy	XEN	Executive Engineer
		L			



Printed by: Agrani Printing Press

LGED HQ, Workshop Building (Level-2)

Agargaon, Sher-e-Bangla Nagar, Dhaka-1207

Phone : +88-02-58 15 52 93

E-mail : agraniprintingpress.lged@gmail.com



Printed by: Agrani Printing Press

LGED HQ, Workshop Building (Level-2)

Agargaon, Sher-e-Bangla Nagar, Dhaka-1207

Phone : +88-02-58 15 52 93

E-mail: agraniprintingpress.lged@gmail.com